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gbooooo=1.0000000b0=1.00000000=0.80000000O=0.8
oooooooo=0.8 00000O0O=0.6 000000=0.60000000O=0.5
gboobooO=1.20000000=0.70000000=0.60000000=0.6
0ooooooo=0.50000000=0.5

37° 31.00 O 141° 19.8 O 52km O: 3.7
gbooooooooog=1.s
gbooooo=1.400000000=1.4000000=1.1000000=0.8000000=0.5
ooooooo=0.50000000000=0.5

38° 55.9 O 142° 02.1' O 54km O: 3.3
oooooOoo=0.7 000C0OO0O=0.50000000=0.5
gboogo=0.6 DOOOOOODO=0.5

35° 08.9° O 139° 09.0' O 10km 0:3.9
00ooo0Oo=8.5
o0000=3.2000000=3.00000000=3.00000000O=2.5
gbooooobo=19 00000b00ob0=1.8s000000=1.80000000=1.7
gooDo0o00obOO0O=1.6e 0O00O0OO=1.6 OO00O00O=1.5000000=1.5
oboodooo=1.4000000=1.4000000=1.4000000=1.20000000-=1.1
00ooo0oO00=1.00000000=0.9000000000=0.90000000=0.9
gboooooo=o9 00000D00OOOO=0.9000000=0.800000000DO=0.8
o0ooo0o0oo0Oo=0.8 00000000=0.80000000=0.60000000=0.6
ooooO00oo0o=0.6
oboog=s.o
o0ooboO0=2.000000000=1.500000000000=1.5
ooobooO0o=1.300000=1.2000000=0.900000=0.8000000=0.8
000000=0.800000000=0.60000000=0.60000000=0.5
oooooOoo=0.50000000=0.5
oboooo=1.9
o0oob0o0=1.40000000=1.000000=0.600000000=0.5
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00oooo0o=0.8
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ooooooo=0.8
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gbOoboooo=s.1 0000oobooo=s.000ooooo=s.0000000=3.0
0000o0o00=s.00000000=8.0000000=8.0000000=8.00000000=3.0
gboobooo=2.9 0000000=2.900000000=29000000=29000000=2.9
0000000=2.9000000000=2.80000000=2.80000000=2.8
obobO0o00=2.8 0000000=2.8000000=2.80000000=2.70000000=2.7
000000=2.7000000=2.70000000=2.7000000=2.700000000=2.7
oboobooO0ooboOd=2.6 000000000=2.6 000000=2.600000000=2.6
obo00o0=2.6 0000000=2.6 0000000=2.6 0000000O=2.6
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gboogo=2.5
000000=2.40000000=2.4000000=240000000=2.4
gbooooobOob=240000000=240000000=230000000=2.3
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ooooooob=1.900000=1.9000000000=1.5
gbobooo=1.4
000o000=8.30000000=2.5
gbOoo0o0000=2.3000000=2.200000=2.2000000000=2.1
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gboboooobo=1.e DO00O0O0DODOO=1.500000000=1.5
oooboooo0o=1.4000000000=1.40000000=1.3000000=1.3
gobooooob0=130000000=1.20000000=1.2000000000=-1.1
o0ooooO0oooo0oo=1.000000000=1.0000000000=1.0000000=1.0
gboogo=09 0000000=0.80000000=0.70000D0O0DO=0.7
gbooooooo0=0.7 000000=0.6 000000O=0.5
00000=2.9000000=2.70000000=2.70000000=2.600000000=2.5
gboo0go=2.400000000=2.4000000=2.30000000=23000000=2.2
000000=2.2000000=2.200000000=2.2000000=2.1000000=2.1
gboogo=2.10000000=2.1000000=210000000=2.00000000=2.0
ooobo000=2.00000000=2.0000000=2.00000000=2.0
gbooooobod=2.0 0000000O=1.90000000000=1.900000000=1.9
gboogooobo=19 000000000=1.800000=1.800000000=1.8
goboogod=1s0000O00oObO=1.8 000000018 000000=1.8000000=1.8
gboooo0=1.s 000000=1.80000000000=1.8000000000=1.7
gbooooooo=1l.7 0000O000OO0=1.700000OCOC=1.7000000O00=1.7
obo0ogo0o=1.7 00000000=1.50000000=1.50000000=1.5
obooooo=1.500000=1.5000000=1.5
oboogo=1.4000000=13000000=1300000000=1.3000000~=1.3
gbooooo=l.3000000=1.300000o00=1.3 000000o0=1.30000000-=1.2
00000=1.200000000=1.2000000000=1.20000000=1.1
gbooboo0o=11000000=110000=1.00000000=1.000000=0.9
oOooooooo=0.900000000O0=090000000=0.8000000=0.7
oooooooo=0.7 000O0O0=0.7000000=0.700000000=0.60000000=0.6
gboooo=0.6
000ob00000=2.4000000=2.40000000=23000000=2.20000000=2.1
gboooobobO0=2.1 0000000000000=2.10000000000=2.1
0O0oooo0ooo=2.0J00000000=2.00000000=2.00000000=2.0
gbooooooO=1.90000000=1.8000000000=1.8000000000D=1.8
gbobooooo=1.8 0000oobooboooboooo=1.s 000o0ooooooo=1.800000d=1.7
oooboo=1.7000000=1.700000000=1.6 0O00O0OOOO0O=1.6
gboboooo=1.5000000000=1.5000000000=1.5000000000+=1.5
gboboooobo=1.500000000=1.50000000=1.5
obobooooboDb0=1.40000000000=1.40000000=1400000000=1.4
o0oooo0ooo=1.3000000000000=1300000000000=1.3
goooooobo=130000000=1.300000000000=1.2000000=1.2
gbooooooo=1.2000000000=1.2000000000=1.200000000=1.2
gbooood=110000000=11 0000000000121 0000D00D0000D=12
gbooooob=1.1 000000=1.000000000000=1.0000000000=1.0
oOooooooo0d=1.0000000=1.00000000=1.0000000=0.9000000=0.9
oooooo=0.9 0000000000=0.90000000000=0.90000000O=0.9
gbooooooo=0.9 000000=0.900000000O=0.800000000O=0.8
oO0ooboooooo0=0.7 00000O0O=0.7000000=0.7000000=0.7
gboooooo=0.6 OOOOOODO=0.5

ooooo0oO0=1.9000000=1.5
gooooo=1.4000000=1.2000000=1.2000000=1.1000000=11
00ooo00=0.900000=0.9000000=0.7000000=0.70000000=0.7
o0oooOoO0=0.7 000000=0.7000000=0.7000000=0.70000000=0.6
oboo0oo0=0.6 DO00OOO0O0O=0.50000000=0.50000000=0.5000000=0.5
o0ooOoo0oO0o0=0.8 0000000=0.7000O000=0.60000000=0.6000000=0.5
oooo0Od=0.5
000o0000=1.2000000=0.90000000=0.7000000000=0.6
000000=0.6 O0O0O0O0O0O=0.5000000=0.5
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oboogooo=l.s 00o0ooooo=1.700000000=1.7 000000=1.7 00000O00O=1.7
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gboo00o0=1.5000000=1.50000000=1500000000=1.5000000=1.5
gbooogog=1.5
oboo00=1400000=1.30000000=1.30000000=1.20000000=1.2
obooboooo=1.2000000=1.2000000=1.200000000=1.2000000~=1.2
oooboooo0o=1.20000000=1.20000000=1.100000000=1.1
gbobood=t100000=1.10000000=1.1 000000=1.21000000-=1.1
00oooo0=1.1000000000=1.000000000=1.00000000000O0=1.0
ooobooOoobo=1.00000000=1.000000=0.90000000=0.900000=0.9
00o0oo0o0=0.8 000000=0.80000000000=0.8000000=0.8
ooooboooo=0.8 0000O0O0OO=0.8 0000=0.7000000C00O0=0.70000000=0.7
oboogoo=0.7 00000=0.7 000D00OO0=0.6 00000000=0.6000000=0.6
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gooooboobO0=11000000=1.00000000=1.00000000O=1.0
obooooo=0.9 000000000O0=0.9000000=0.80000000O=0.8
o0oobooO0oo=0.8 000000=0.8 0000000=0.70000000=0.70000000=0.6
gbobooO=0.6 O0O0OOO0O0O0O0=0.5000000=0.5
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gboooobo=1.2 000000000011 000000=1.00000000O=1.0
ooooooobo=1.00000000=0.9000000=0.900000000O=0.8
ooooooo=0.8 0000000=0.8000000=0.80000000=0.80000000=0.8
gbooooooo=0.8 0000O00=0.8 JO00O0O0OO=0.7 000O0O0DO0OOO=0.7
goboooooboobOoog=0.7 O00OO0OO=0.7 ODODODOOD=0.7 O000OODOODOO=0.7
oooo0Ooo0=0.6 D00O00O0O0O=0.6 0000000=0.6000000=0.6000000=0.6
00oooo0oo0=0.6 0000000=0.6 000000000=0.600000000=0.5
ooooooood=0.5
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36° 27.00 O 141° 17.00 O 46km O: 3.6
0 oooooooo=o.9

37° 11.7 O 142° 08.1' O 33km 0:4.3
O 0000Oo00=0.5
O 0000b0=130000000=1.10000000=0.5

obooooooo 34° 20.00 O 139° 12.9° O 4km 0:2.2
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0O oobooogd=1.1
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38° 41.00 O 141° 55.9' O 57km O: 4.2

0 000b0000=2.6 0000000O=2.5

0 0Ooboooo=1.90000000=1.80000000=1.80000000O=1.6
ooobooobo=1.6e D0O0OO0OODOO=1.6 000000O=1.6 000000=1.5
gboooooo=1.50000000=1.5000000000=1.50000000+=1.5
oboooo=1.50000000=1.5

0 0obooo=1.40000000=140000000=130000000=1.3000000~=1.3
gboboboobo0=1.20000000000=1.2000000000=1.2000000=1.2
gooodbo0d=110000000=1.1000000=11000000=1.0000000=0.9
oboobooo=0.9 000000=0.90000000=0.800000000=0.8000000O=0.7
00oooooo=0.7 000C0OODOOO=0.70000000=0.70000000=0.7
00o0oo0=0.7000000=0.6 0000000=0.60000000=0.5
00oooo0oooO0O=0.5

O ooogoogd=2.5

0 0obOooobO=2.200000000=2.1000000=2.000000000=1.9
gooodbo=1.9000000=1.800000000=1.8000000=1.7000000O=17
oooboo=1.70000000=1.7y 00000ODO0OD=16 0000000O=1.6000000O=1.6
00000=1.6 0000000=1.50000000=150000000=1.500000=1.5
gbooogo=1.5

0 0obobo=1.4000000000=1.4000000=1.400000=1.4
o0oobooooo0=1.4000000=130000000=1.300000000=1.2
gbooboboo=1.20000000=1.20000000=1.2000000=1.10000000=1.1
00ooboo0o0=1.10000000=1.10000000=1.10000000=1.0
gbooboooobO=1.0000000=1.0000000=1.000000D=0.9
ooooooooo=09000000=09000000=0.90000000O=0.8
oooooooo=0.8 0000O0O0OO=0.80000000=0.80000000=0.7
oboooooo=0.7 00000=0.700000=0.7 000OO0OO=0.70000000O=0.7
ooooooo=0.7 000O0OO0O=0.7000O00OO0C0O=0.7000000=0.6
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0 oooooo=1.0

36° 10.5 O 140° 06.8 O 51km O: 3.6
0O 000b00b0obo0=1.6e DODOD=16 0000O00O0OO=1.6 000000=1.6 0000OOO=1.5
0 ooobobb=14 00000000000=1.4000000=1.400000000=1.3
000000=1.20000000=1.20000000=1.200000000=1.2
gbooooobo=1.2000000=1.100000=1.1000000=1.000000=1.0
oooooooo0=1.0000000=1.0000000=0.900000000=0.9
oo0ooo0oOoo0=0.9 000000=0.80000000=0.7000000=0.7000000=0.7
gboooooo=0.7 D0000O0O0O=0.7 D00OC0OO0OO=0.7000D00OO0O=0.6
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gbo00=0.6 DOOOO0OOOO0O0O0O0=0.6 00000000=0.60000000000O=0.5
Oo0o0oooO0oo0=0.5000000=0.5000000=0.5000000=0.50000000=0.5
oog 0O 0oooog=1.5
0 000000=1.200000000=1.1000000=1.100000=0.800000000=0.7
gboo00=0.7 0000000=0.7 00D00ODO=0.7000000000=0.6000000DO=0.5
obooooooog=0.5
ood 0 00oooooo=0.6
70 112 0311 ( OOOOO 36° 46.6' O 140° 34.1' O 9Okm O: 3.0
oogd 0 ooobobobob=1a1000000000=09 000000000=0.70000000O=0.7
71112 0318 ( OOOOO 36° 46.5 O 140° 34.00 O 9km 0O: 3.8
ooog 0 0o0bob0=23000000000=2.0000000000=2.00000000=1.9
gboooo0ood=1.900000000=1.6 DOOO0OOODO=1.5
0 0o00b0ob=14000000=1.4000000000=1.2000000=1.1
gbooooobooboo=1.1 0000000000=1.1 00000000=1.1 00000=1.1
ooobdOo=1.0000000=0.90000000=0.900000=0.9000000=0.9
gbooooo=0.8 000000O0O0=0.8000000=0.8000000000=0.8
goooooooboo=0.8 000000=0.7 O0OOO0OOOOODO=0.7 0000O0O0O=0.7
oboo00=0.7 D0000000O=0.6 00000O=0.6 0000000O=0.6000000=0.6
00ooo000=0.6 000C0OO0DOOOOO=0.500000000000=0.500000=0.5
o0oo0000=0.5000000=0.500000=0.500000000=0.50000000=0.5
ood O 00000000=1.100000=0.700000000=0.70000000000=0.6
ooooooo=0.5
oog 0 ooobooobooo=o.80b00onoonogn=0.6 DOOOOOOO=0.50000000=0.5
ooooooo=0.5
oog O 000o0oOo=090000000=0.5000000=0.5
72 112 06 30 (| OOOOOCOOO 32° 48.9° 0O 131° 30.6' O 71km 0:3.1
oog 0 ooobooooo=o.soboonoonoooooon=o.7
73 (12 08 05 | ODOOOO 36° 45.7 0O 140° 34.00 O 9km 0:2.9
ood O 000000000=0.6 0000000=0.5
74 112 08 40 [ OODODOOOO 35° 35.7 O 139° 26.4 O 26km 0: 2.9
ood O 0ob0ooboooob=1.100000000=0.90000000=0.8000000=0.7
gbooooo=0.7 000000=0.7 O0O0O00OO0O0O=0.6 00O00OO0O=0.60000000=0.6
ooooo0Oo=0.5
obooo 0 0o00obobobo=1100000D00D0=1.0000000000=0.900000000O=0.8
ooooooooo=0.700000DO00O=0.7
75 (12 1438 | OOOOOOO 37° 18.5 O 138° 57.3 O 9km 0: 3.5
ood 0 000b000oo0=2.4000000=2.1000000=1.8
0 0o0ob0=1.3000000=1.30000000=1.30000000=1.2000000=1.2
000o0000=1.200000=1.1000000=0.90000000=090000000=0.8
gboooo0=0.8 000000O0O00O=0.7000000=0.700000000O00O=0.6
000O0000=0.500000=0.5
76 (12 2040 | OOOO 39° 01.1' O 142° 39.17 O 23km O:3.9
ood 0O 0000000O0=0.5
77 112 2255 ( OOOOO 34° 54.7 0O 132° 05.9° O 13km 0O: 3.0
oood 0 0o00ooo=0.8
78 |12 2344 ( OOOOO 34° 48.4 0O 136° 15.4 O 10km O: 2.5
ood 0 0Oobooooooog=0.7
79113 0221 | OOOO 38° 247 O 141° 55.7 O 64km O: 3.4
ood 0O 000ooo=1.3
80 (13 0331 | OOOO 38° 24.00 O 142° 10.4 O 36km O: 4.5
ood O 0000000=2.10000000=2.000000000=2.00000000=2.0

gboogoo=2.0 0000000=1.9 00000000018 000000=1.7
gbooooo=l.70000000O=1.50000000=1.50000000=1.5

0 0o0oboboobobo=140000000=1.40000000=1.40000000-=1.4
gbooooo=14 000000=1.40000000=130000000=1.30000000~=1.3
oooboob=1.2000000=1.2000000=1.20000000=1.20000000=1.1
gboooooob=ta1 0000o00=1.1000000=1.1000000000=1.0
ooooooobo=1.0000000=1.0000000=0.900000000=0.90000000=0.9
o0o0ooO0=0.9 0000000=0.90000000=0.90000000000=0.8
00ooo00=0.8 000000=0.70000000=0.7000000=0.7000000=0.7
000000=0.6 OO0O0OC0OOOCOO=0.60000000=0.5000000=0.5
gboogoo=0.5000000=0.500000=0.5000000=0.5
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oog 0 00b0ob00=2.40000000=2.40000000=2.20000000=2.20000000=2.1
ooobooOoo0o=2.000000000=2.000000000=1.900000000=1.8
goooooo=1.8s 00000=1.8000000=1.8 0000000=1.70000000=17
00o0oo000=1.7 000000000O0=1.6 0000O00=1.6000000+=1.6
goobo0ooO0=1.6e 00000O=1.50000000000=1.5000000=1.5
0 0obobo=1.40000000=1.40000000=1.4000000=1.400000=1.4
ooooooobo=1.400000000=1.40000000=1.3000000=1.3
gbobooooboo=1.300000=1.30000000=1.30000000=1.3000000~=1.2
oooooooo=1.2000000=1.20000000=1.20000000=1.2
gboboooobD=1.20000000=1.200000000=1.2000000=1.200000=1.2
ooooo0o0=1.20000000=1.1 000000011 000000000=1.1
gboodo=11000000=11000000=11000000=1.0000000=1.0
gbooooo=l.o0000ooooobo=1.00000000=0.9000000O=0.9
oooooooo=0.900000000=0.9000000000=0.90000=0.9
ooooooo=0.9 00000000=0.90000000=0.9000000=0.8
oOooooooo=0.8 000000O0=0.8000000=0.8000000=0.80000000=0.7
ooooboOoo=0.7 00000=0.7000000=0.6000000=0.6000000=0.6
obooooo=0.5
ood 0 0bo0bdob=110000000=0.8
oogd 0 oooboooboooo=e.o000000=0.8 00000O0O0O=0.800000000O=0.7
0O0o0ooo0ooo0=0.6 0000000O=0.5000000=050000000=0.5
0oooooo=0.5
81|13 1022 ( OOOOOOOO 34° 24.6 0O 139° 17.7 O 11km 0: 25
oog 0O 0ooooo=o0.8
82|13 1027 (| OOOOOOOO 34° 24.6 O 139° 17.7 0O 10km 0: 3.3
(@) |13 1027 | OOOOOOOO 34° 24.5 0O 139° 17.2 O 11km 0:3.1
oog 0 0obgo=1.9000000=1.6
0 boobooboo=1.00000000=0.9
83 (13 1029 | OOOOOODOO 34° 24,6 O 139° 17.4 O 11km 0:2.2
ood 0O o0oOooo=1.0
84 |13 1431 | ODOOO 37° 22.0 O 141° 32.9 O 27km 0: 4.3
oogd 0 0o00boboOo=0.7 0000D0O=0.700000O0O=0.7000000O=0.5
85 |13 1744 | ODOOO 39° 57.6' O 142° 26.3 0O 37km O: 3.7
ooog 0 0oooooo=11
86 |13 2234 ( OOOOO 35° 05.8 O 135° 41.4 0O 6km 0:2.9
oog 0 oooboooooooo=1.e
O 0Oooooboob=0.8 0000000O=0.6
87 |13 2336 | OOOO 39° 15,9 O 142° 18.8 O 33km O: 3.8
ooo 0 0o00b0b00=110000000=0900000000=0.60000000=0.5
ood O 000000=0500000000=0.5
88 (14 00 37 | OOO 43° 02.9 O 145° 28.9° O 52km O: 3.9
ood 0 000000=230000000=1.800000=1.60000000O=1.6
0 0o00ob0b0=1.20000000=09000000=0.90000000=0.80000000=0.8
ooooooo=0.7 0000O0O0O=0.7
89 (14 0158 | DOOOOOO 40° 08.1' O 141° 50.6° O Tkm 0: 2.6
ood 0 000000=1.30000000=0.5
90 |14 0909 ( OOO 42° 26.7 O 144° 54.8' 0O 42km O: 4.1
oog O 0000000=0.800000=0.6 00000000=0.6
91 |14 1137 ( OOOOOO 33° 51.4 0O 135° 20.9° O 53km O: 3.4
goooo 0 0oobooboob=1.1000000=1.00000=1.00000000=0.9000000O=0.8
ooooooo=0.7 O00COODOOOOO=0.5
92 |14 2342 | OOO 35° 38.5 O 140° 01.8' O 68km O: 3.2
oogd 0 0o0obobooboob=1.20000000=11000000000=0.900000000=0.8
gooo 0 ooobooboooboob=1.100000o00o0oob=090000000O0=0.7000000C00O0O=0.7
ooooooooOd=0.6 DOOODOOOOO=0.5
93 115 0107 [ OOOOO 34° 57.5 0O 139° 58.0' O 63km 0O: 3.8
ooogd 0 0o00ob0oobo0oo0=2.000000000D00O=1.5

O 000ob0b00o00=1.4000000000=1.4000000000=1.3
gpboogoooooo=1.2 0000000011 0000000011 0000000DO0=11
gbooooo=l.o00ob00ooobooobog=1.0o000000000=0.90000000000O0=0.9
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gboooooo=0.9 0000000O0=0.900000000=0.8000000000O=0.8
oooboooo=0.8 OO00OO0OOOOO=0.80000000=0.700000000=0.7
gbooog0o=0.7 000000O0OO=0.70000000O0O=0.6000000000DODO=0.6
000ooo00oo0=0.6 000000 O0O0O=0.6 0000000=0.6000000000=0.5
o0ooo000=0.5000000=0.5000000=0.5000000000=0.5
gboooooooo=o5 000000000=0.500000000=0.5
oooo O 0o0oooboooo-=1.6
0 oooboobooooobob=140000000D00D0=140000000000O0=1.3
gooo0oooo0=130000000=1.3000000=1.30000000=1.200000=1.2
gboogooooob=1.2 00000000011 000000000=1.0000000D=1.0
oooooOoooooob=lt.000000000=1.000000000=1.0000000=0.9
ooooooo=0.9 0000000=0.9000000000=0.900000000=0.9
gboooooooo=o9 00000bO0O0O=0.800000000000O=0.8
oooboooooO0=0.80000000=0.8000000=0.80000000=0.8
obo0ooo0o0oo00=0.8 000000=0.8 00000000=0.8000000000O=0.7
o0oooo0o0=0.7 000C0OO0DOO=0.7 00000000OO00O=0.600000000=0.6
oooooOoo=0.6 000O00OO0O0OO0=0.5000000000=0.5000000000=0.5
obooooooooo=0.5 000000000=0.5000000000=0.5
ood 0O 0o0ooob=0.5
ood 0 OobOoboobooo=o.6e DOO0O0OO0O0O0=0.6 OOOOOOODOODO=0.5000000=0.5
ood 0O 000000=130000000000=1.3000000=1.10000000=1.0
oOoooooo=0.9 0000000=0.900000=0.80000000000=0.8
000o000=0.8 000000000=0.6000000=0.6000000=0.5
ood O 000oooboooo=0.5
oog 0 ooobobob=1.100000000000=0.900000=0.70000000O=0.7
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101 |16 07 45| OOOO 39° 3.7 O 142° 17.1' O 70km 0O:5.1
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oobob0=290000000=2800000000=2.7000000000=2.7
gbooooog=2.5
oooboooood=2.400000000=2.400000000=2.3000000=2.3
gbo0000=2.20000000=2.2000000=2.200000=2.200000000=2.2
o0ooo00=2.0000000000=2.0000000000=2.00000000=2.0
gboooooo0=2.0 00000=1.9 0000000000=1.8000000000O~=1.8
gboo00o0=l.e DO00O000O0O=1.6 OOO0OOOOO=1.6 00000DO=1.5

gboogd=14 00000000014 000000=13000000=1.3
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o0oob00=1.00000000=1.0000000=1.00000000=1.00000000=1.0
o0oo0000=0.9 00000000=0.90000000=0.90000000=0.9
00ooo0o00=0.8 000000=0.8000000=0.8000000000=0.8000000=0.8
o0oooo0oo0=0.8 000000=0.7000000=0.6
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oboo00o0=3.4000000=3.2000000=8.20000000000=3.2
00o0obo0o0000=3.10000000=8.100000000=2.9000000000=2.9
goooO0do0=280000000=2.80000000=2.80000000=2.8000000=2.8
000000=2.8000000=2.70000000=2.70000000=2.6000000=2.6
gboo000=2.6 0000000=2.6 0000000O0=26 000000=2.6000000=2.6
gbobdogd=2.6 D000000=2.6 O0O00000=2.6 0000000=2.5000000=2.5
ooooooo=2.5
gboooo0=2.400000=2.40000000=24000000=2.40000000=2.4
00ooo000=2.4000000=2.40000000=2.300000000=2.3000000=2.3
gboogoo=230000000=230000000=23000000=2.2
o0o0oo00000=2.20000000=2.2000000=2.20000000=2.2
gboogo0d=2.20000000=2.2000000=2.10000000=21000000=2.1
gboooooo=2.1 000000=2.1 0000000=2.10000000=2.1
gboogod=2.0000000=2.00000000=2.000000000O0=2.0
gboogooo=1.90000000=1.9000000=1.90000000=19000000=1.8
00oo000=1.8 000000000=1.80000000=1.70000000=1.7
gboooooooo=1.7000000=1.7 00000000OO=1.6

oboogd=14 000000000=14000000=1.30000000=1.30000000=1.1
ooobO00o0oO=0.9

oboooooo=2.7 000000=2.5000000=2.5
000000=2.40000000=2.200000000=2.1000000=2.0000000=1.9
goobooOo=190000000=1.80000000=1.8000000=1.80000000~=1.8
0000000=1.7 00000=1.6 000000=1.6 00000000=1.6 0000000=1.6
gbooodo=1.5 0000000=1.5000000000=1.500000000=1.5
gboooooo=1.5000000=1.50000000=1.50000000=1.5
o0oobooob=1.4000000=1.40000000=1.3000000=1.30000000=1.3
gboogooo=130000000=1.3 000000013 000000000=1.2
00o0ob00=1.200000=1.200000000=1.2000000=1.1000000=1.1
gboo0d=1.10000000=1100000000D00=1.0000000=1.000000=1.0
gbooooo=l.o0o000ooo=1.0000000=1.00000000=0.9
ooobooooooo=0.00000000=0.9000000000=0.9000000=0.8
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oooboooob=1.20000000=1100000000=1.0000000000=1.0
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obobooooo=0.9 000000=0.900000=0.9000000=0.8
ooooooooo=0.80000000=0.8000000=0.80000000=0.7
gboooooo=0.7 000000=0.70000O00COO=0.7000DODO=0.7000000=0.7
00000=0.7 00000000=0.6 00000000000=0.60000000=0.6
000000=0.6 O0O000O0=0.6 000000=0.500000000=0.500000=0.5
gboooooo=o.5 00000=0.50000000=0.500000=0.5
oOooooooo=0.8 000O0O0O0COO0=0.8000000=0.600000000=0.5
obooooooo=0.5

oooooo=0.7

36° 54.3 O 139° 23.5 0O 4km 0: 2.2
oooooooo=1.0

35° 32.6 O 141° 02.7 O 37km O: 3.6
oooooOoo=0.7 00000O0=0.6

42° 58.1 0O 145° 27.6' O 47km O:5.1
oboooo=4.00000000=3.800000=3.5
0bo0000=83.3000000=8.300000=3.20000000=3.10000000=3.1
gboo0oo0=2.9 0000000=2.900000=2.80000000=2.800000=2.8
oooooo=2.8
obo000=240000000=2.400000000=230000000=2.3
0000000=2.3000000=2.2000000000=2.20000000=2.1
obOoo00o00d=2.1000000=210000000=2.1000000000=1.8
gboooo=1.8000000=1.8 00000000=1.8 00000=1.8000000=1.7
00ooboo00=1.6 OO00OO0OODOOO=1.50000000=15000000000000=1.5
goooooo=140000000=1.4000000=14000000=1.40000000=1.4
000oo0o0o0o0o=1.300000000=1.3000000=1.300000000=1.2
gboooooob=1.2 000000=1.2000000000000=1.2000000=-1.1
gbooooo=t100000=1.100000=1.0000000=1.0000000000=1.0
ooooooooOd=1.0000000=1.000000000=1.000000000=1.0
gboboooooob=1.0000000=0.900000000=0.90000000O=0.8
00ooo000=0.8000000=0.8000000=0.80000000=0.700000=0.7
00o0ooOooo=0.6 D00OOO0=0.5000000=0.500000=0.5000000000=0.5
0o0ooooO0=0.50000000000=050000000=0.5
oooboooob=1.o0000000000=0.8

34° 34.4 0 135° 00.8' O 17km O: 4.0
gboobooooDbD=28 00000=2.5
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gbob000=2.2000000000=2.20000000=2.2000000000=2.0
gbooooooo=1.9000000=1.9 0000000000=1.900000000O~=1.8
gboooooboo=1.s 000000O0O0O=1.8000000000=1.80000000O~=1.8
gbooooooob=1.7 00000000=1.7 0000000=1.6 000OOOOO=1.6
00oobo0000=1.6 000O0O0O0D0O=1.6 O000O0000O=1.5000000=1.5000000=1.5
oboogoog=1.5
00oo000=1.4000000=1.40000000=1.4000000=1.3000000=1.3
0000=1.300000000=1.3000000=1.200000000=1.20000000=1.2
oboobooob=1.2000000=1.2000000=1.20000000=1.1
oooboooobod=1.1000000=1.10000000=1.100000=1.0000000=1.0
goobob=1.0000000=1.0000000D00=1.0000000=0.900000000=0.9
0o0oooooo=0.8 00000=0.8000000=0.8000000=0.80000000O=0.8
gooboooobO=0.8 00000O00OO=0.8000000000=0.80000000O=0.7
gbobooo=o.7 D0O0OO0OO0OO0OOOOCO=0.7000D0ODOO=0.7000000O=0.7
oO0o0oooooo=0.6 D0OOOODOO=0.6 0000000=0.6000000=0.6
gbooboobooboO=0.6 DOOO0OOOOO=0.500000000=0.5000000=0.5
oooo=0.50000000=0.5
gboobooo=1.s 0000000=1.70000000=1.6 00000DO=1.5
oooooooo0=140000000=13000000=1.3000000=1.2
goooooob=1100000000=11 0000000000011 0000000112
gbobooooboo=1.o00000000=1.00000000=1.000000000O0=0.9
goooooooooOo=0.9 00D00D00ODO0OOO=0.8 000000=0.700000O0OO00O=0.6
oooooooo=0.6 0000OO00O=0.6 000O0O0000O000=0.6000000=0.5
00oooo0o0=0.50000000=0.5
gbooooo=1.20000000000=0.700000O0000O00O0=0.600000=0.6
gbooooo=0.6 0O0O0OO0ODOODOO=0.5
o0oobooOo=0.900000000=0.80000000=0.8000000=0.8
gbooooooo=0.7 0O00O0O0O0OOO=0.5000000=0.5
o0ooooooo=1.2000000=1.1000000000=1.0000000=0.6
oO0o0ooO0oO0ooo=0.6 00O0O0OO0O=0.6 O000OO0O00O0OO0O0OO0O=0.5
oooog=0.7
ooooooo=0.8 0000O0O0O0OO=0.8000000=0.7000000=0.7000000=0.7
gboogooo=o.7 D00O00DOO=0.5000000=0.5
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0 0obOooobo=1.3000000=1.20000000=0.60000000=0.6000000=0.5
O 00000000000=0.9 0000000=0.80000000=0.700000000=0.6
0oooo0O0O=0.5

ooooooo 33° 00.3 O 130° 45.9° 0O 10km 0: 3.0

oog

0 ooooooo=1.e
O 000000=1.2000000=1.200000000=1.20000000=1.10000000=11
gbooooo=t1000000=1.00000000=0.9 0000000O0O0O0O0O=0.9

oooooooo 35° 26.5 0O 136° 52.5 0O 43km 0: 3.8
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O 000000=2100000000=1.8000000=1.70000000=1.6
gboooo0obo=15000000=1.50000000=1.5

0 0oooboobb=14000000=14000000=1.400000000=1.2
gobooooobooo=1.200000000=11 000000011 0000000D=11
gbooooobo0o=11 000000=1.1000000000=1.2000000-=-1.1
0o0oobo00=1.1000000=1.1000000=1.0000000=1.0000000=1.0
gboogooobo=1.00000000=1.00000000O0=0.9000000D00=0.9
gboooooo=o.8 00000O0O0O=0.8 0000000=0.8000000=0.8
gbooooooOob=08 000000OOO=0.7 DODOOOOO=0.7 000O0ODOO=0.7
oboo0do=0.6 O0OOO0O0O0=0.6 OODOODOOOO=0.6 0000000=0.60000000=0.6
000000=0.6 OO0O0O0O0O0O=0.5000000=0.500000000=0.5
oooooOoo=0.50000000=0.5000000=0.5000000=0.5

O 000o0b0oo0o00=2.000000=1.90000000000=1.800000000=1.7
o0o0o000=1.500000000=1.5000000=1.50000000=1.5
gbOobooooo=1.5000000000=1.50000000=1.500000000000=1.5
obooooood=1.5

0 0obooboobob0o=140000000=1.40000000=1.4000000-=1.4
oooooooo=1.40000000=1300000000000=1.30000000000=1.3
gboobOoo=1.20000000=1.2000000=1.2000000000=1.2
gbooooooboo=1.20000000=1.1 0000000=1.10000000=-1.1
oooboooo0o=1.10000000=1.0000000000=1.0000000000=1.0
gboboooobo=1.0 00000oOoooboO=1.00000000=1.0000000000=0.9
00oooo0oO0oo0o=0.9 0000000=0.900000000=0.80000000=0.8
ooobooOoooodo=0.8 0000000=0.800000000=0.800000000O=0.8
00oo0o0o0O=0.7 000000=0.7 0000000O0=0.7000000000=0.6
ooooooo=0.6 OOOOOOOOO=0.6 000000=0.6000000000=0.6
gbhooogo=o.5 0000ooo=0.5000000=0.5000000=0.500000000=0.5
ooooo0oO0=0.5000000=0.5

0 0o0000b00=1.90000000=1.8000000=1.70000000DO=1.6
00oooo0oo0o0=1.6e 00000O0OO0OOODO=1.5

0 00000=14000000=1.4000000=14000000=1.40000000-=1.4
obooooobo=1.40000000000=1.400000000000=1.3
gbooooooOoD=13000000=1.3000000=130000000=1.3
gboooo=1.200000000=1.200000000=1.20000000=1.2
00oooo0oo0oo=1.200000000=1.2000000000=1.2000000=1.2
gbooooooO0o=11 0000000000=1.10000000000=1.1000000=11
00ooboo00=1.100000000=1.10000000=1.100000000000O0=1.0
oooooo=090000000=0900000000=0.900000000000O=0.8
gboooooooob=o.8 0000000=0.7000000000O00O=0.600000000O=0.6
o0ooboooooooob=0.5000000=0.5

0 0o00b0ob=14000000=1.100000=110000000=1.0000000=0.9
000oo000=090000000=0.9000000=0.8000000=0.80000000=0.8
gbooooob=0.7 00000=0.7 ODOODOOOOO=0.7 O0OODODODO=0.7
obobooo=0.6 DO00O0O00=0.6 UOOOOOO=0.5000000=0.5

O 00000000=1.300000=0.8000000=0.60000000000=0.6

0 ooooobooo=o.7000OD0OO00O00O0O=0.6

oooooooooo 35° 32.5 O 138° 58.0° O 24km O:3.8

gooo

O 00O0o0oooo=2.5

0 0O0obO00O0b00bO=22000000000=21000000=2.0000000000=1.9
gbooooo=l.9000ooooo=1.7 g0o0o0=1.7 00oboooOooOoo=1.7
goboo00o00=1.6e D00O0O0OO0OOO=1.6 JOOO0OOOOO=1.6 DODODODOO=1.5
oboobogoog=1.5

O 000000=1.40000000=1.400000000=1.4000000=1.3
gboooooooo=130000000000=1.3000000=1.30000000~=1.3
gboogo=1.3000000=1.2000000=1.2000000=1.2000000000~=-1.1
gpbooooobod=11 0000000011 0000000000012 00000000=12
gbooooobo=1.1 00000bo0obo=1.10000000=1.1000000=1.0
o0oobooO0oo00=1.0000000000=1.00000000O00C0O00O=1.0
gboogooo=l.o00000000=1.000000000=1.0000D00DO0O0=1.0
ooooooooO0o=09000000=0.90000000000=0.9000000000=0.9
o0oooooooo=0900000000=0.90000000=0.8000000=0.8
gboooooo=0.7 000000O=0.7 000000OO0O=0.700D0ODOODOO=0.7
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gbooboboooo=0.7 0000000O=0.7 O0000O0O00ODO=0.6 000000O=0.6
oooooooo=0.5

gboooooo=8.400000=2.6
0000000=2.4000000=2.3000000=2.2000000000=2.1
gboobobOobD=21000000000=2.00000000=2.00000000=2.0
gbooboooooo=2.0 000000=1.9 0000000=1.8000000=1.8
o0oo0oboo0o0=1.8000000000=1.700000C=1.6000000000=1.6
oboobdbO=1.e 00O0O0O0O0O0O0=1.5000000000=1.500000000=1.5
ubooooo=14 0000000=1.4000000000=1.4000000=1.4
goooooobO0o=13000000=1.30000000000=1.20000000000O=1.2
ooobooob=1.2000000000=1.2000000=1.2100000=1.0
goooooobO=t.000000O00O=0.9000000OO=09000D0ODODO=0.9
gboboooobooo=o.8 000O0O0OOO=0.80000000O=0.7
goooooooboooDoOoog=0.7 000O0OO00O0OO0=0.7O0000C0OO=0.7000O00ODO=0.6
ooobooOoood=0.6e D0OOO0O0O=0.500000000=0.50000000000=0.5
gboooood=1.5

gbooboo=1.8 000000=1.7 000000=1.500000000=1.500000000=1.5
gbooooobo=1.4 000000=1.4000000=1.30000000000=1.3
gooodoOd=1l.20000000=1.20000000=1.2000000=1.210000000=1.0
gbooooo=0.9 000000b0O0bOOO0=0.9000000=0.700DOODOOOODO=0.7
00oo0ooooo=0.7 0000O0O0DO=0.7000000O0O=0.6000000=0.6
ooobooOooo=0.6 OOOOOOOO=0.50000000000=0.50000000=0.5
00oooo0=1.80000000=1.60000000=1.5
o0ooboooboo0=1.4000000=13000000000=1.2000000=1.0
obooooo=0.9 00000000=0.800000000O=0.8000000O=0.7
oO0ooo00=0.7 0000000=0.6

gboogo=1.6e
00o0oo00=0.8000000=0.80000000=0.80000000=0.7000000=0.7
oooooO=0.70000000=0.60000000=0.6

gboboooobo=1.0 0000000=0.7 00O0O0OO0O=0.5

35° 43.6 O 140° 12.1' O 67km O: 3.8
0O0ooob0o0=1.000000=0.80000000=0.70000000=0.700000000=0.6
000000=0.6 00OO00O0=0.500000=0.5
000O000=0.8 000000=0.7000000000=0.6000000000=0.5
gboooo=13 0000000000013 0000000013 00000000O=1.2
gboooooobo=1.1 000000=110000000000=1.00000000O=1.0
o0o0O000=0.9000000=0.900000=0.9000000000=0.8
oboo0o0o0o0o00=0.8 000000=0.8 000000000=0.70000D00O0OOO=0.6
0o00o0=0.5
gbooooobo=1.1 00000000=1.1 000000000=1.000000000O=0.9
obooooooo=0.9 00000000=0.8 000000000O0=0.800000000=0.8
oooooooo0=0.8 00000000C000=0.80000000=0.8000000000=0.8
gboooooo=o.7 DO000O0O0O0OO=0.700000O000O0=0.7000000O0ODO=0.6
0000000o000=0.6 0O00D00O0O=0.6 00000000=0.6
gbooboooDbO0D=1.1 0000000=0.80000000000O=0.6

38° 21.00 O 142° 00.5 O 48km O: 3.6
obooooo=0.8 D00O00O0O0O0=0.70000000=0.60000000=0.6
oO0ooooO0=0.50000000=0.5000000000=0.5
gboogoo=1.2000000=1.1000000=1.00000000=1.0000000=0.8
oooo0oO0oo0o=0.8 000000O0=0.800000000=0.70000000=0.6
oooooOooo=0.500000=0.500000000=0.50000000=0.5

37° 39.5 0O 139° 54.9° 0O 9km O: 2.5
gboogoog=2.0
oooooooo=1.000000000=0.80000000000=0.7

38° 19.3 O 141° 52.1' O 47km 0: 4.3
obOoogod=2.00000000=2.000000000=1.6 000000DO=1.6
obooogog=1.5
obooood=14 000000000=1.4000000=140000000D0=1.2
oboo0oo00=110000000=1.10000000=1.00000000=0.9000000=0.9
oooo0ooo0=0.9 0000000=0.8000000000=0.7000000=0.7
o000000=0.6 0000000=0.6000000=0.6000000=0.6000000=0.5
oooooog=0.5
gbOo000=240000000=230000000=2.100000000=1.8
ob00oo0oooo=1.70000000=1.6 D0O00O0O0O=1.6 DD0OOD0OO0O=1.5000000=1.5
ooooooo=1.50000000=1.5
gooooo=1.4000000=1.400000000=1.40000000=1.4
00oooo000oo00=1.300000=130000000=1.30000000=1.3
ooo0obobo0=1.3000000=1.20000000=1.200000000=1.1
gbobooo=t1 000000=1.100000=1.1000000=1.00000000=1.0




oo
oo

ood
ooao

oooo

oo oo oo oo

Ooo0o0Oo0o0ooooobDaobo

115

116

117

19 04 38

19 084

19 14 18

oog
ood

gbooogo
gooo

oooo
ooo

ooogd

ooogd

ood

oog

ood

ood
ood

oo

gboboo=1.00000000000=1.000000000=0.90000000=0.9
oOoooboO0=0.90000000=0.90000000=0.80000000=0.800000000=0.8
oooboooo=0.8 00000O0=0.8 00000=0.80000000=0.8000000=0.7
0Oooooooo=0.7 000O00O00O=0.7 000000=0.70000000=0.60000000=0.6
Oo0oo0b=0.6 000OO0OO0O0O=0.5000000000=0.500000=0.5

gbooooo=o.7
oooboooo=1.00000O000C0O0=1.0000000000=0.8000000=0.8
gboogoo=0.8 0000000=0.80000000=0.7000000=0.60000000=0.6
o0oooooo=0.5000000=0.50000000=0.5

28° 09.1' O 130° 22.3 O 24km 0: 3.5
gooogd=1.1

39° 00.6' O 142° 08.77 O 52km O: 4.9
gboooo=2.5
00o0Ob00=2.00000000=2.000000=2.0000000000=1.900000=1.7
gboo00o00=1.6e DO00O0OOODOODO=1.6
gbooooobo=1.2 000000000=1.20000000=1.1000000=1.1
gbooooooo=t.o0000D0O0O=1.000000O00OO=1.00D0000=1.0
gbooooo=l.o0000ooooo=1.00000000=0.90000000O=0.9
oooooOoooo0o=09 000000000=0.8000000000=0.700000000=0.7
gbo0o0o000=3.4000000000=8.2000000=3.20000000=2.9
0000000=2.90000000=2.9000000=2.80000000=2.8000000=2.7
000000=2.6 000000O0=2.5000000000=25000000=2.5
gboobooog=2.5
00o0000=2.4000000=24000000=230000000=23000000000=2.3
gboo0do00=2.3000000=2.30000000=230000000=23000000=2.2
00000000=2.2000000000=2.10000000=2.10000000=2.1
gbob0oo0=2.1000000=2.000000=2.00000000=2.0000000=2.0
gbhooood=2.0 0000000=1.900000000=1.90000000=1.9
o0oobooO0o0=1.90000000=1.9000000=1.9000000=1.9000000=1.9
gbooooo=l.s000oooo=1.9 000000=1.900000000=1.9
oooooO0oo0o=1.8s0000000=1.80000000=1.80000000=1.7000000=1.7
gboogo=1.7 0000000=1.7 0D00O0000=1.7 000000=1.700000O0O=1.6
000O0000=1.6 O0000O0=1.6 00000000=1.6 O000O00O0O0O0O0O=1.6
obOoo0000=1.6 0000O00O=1.6 UOO0OOOOOOO=1.6000000O=1.5
oboogoog=1.s
gpoooood=14 000000000=1.4000000=13000000=1.3000000=1.3
oboo0oo0=1.30000000=1.30000000=1.20000000=1.10000000=1.0
ooooooooO0=1.00000000=1.00000000=1.0000000000=0.8
oboooo0oo=2.70000000O=2.6
oboo0go0=2.4000000=2.3000000=2.30000000=2.20000000=2.2
00000=2.2000000=2.20000000=2.20000000=2.10000000=2.1
gbOobodo=2.100000000=2.1000000=2.10000000=2.1000000=2.0
000000=2.000000=2.000000000=2.0000000=2.00000000=1.9
gboogooOd=1.s 00000000=1.80000000=1.8000000=1.8
ubooooobo=1.7 00000O0OoOOO0O=1.7 ODO0O0OOO0OO=1.7 000O00OOO=1.7
00oo0Ob0O00=1.6 0000000=1.6 0000000=1.6 00000=1.6
gbooooooobo=150000000=1.5000000=1.50000000+=1.5
oboooooo=1.5 00000=1.50000000=1.5000000000=1.5
gbooogdo=1.40000000=1.40000000=140000000=1.4000000-=1.3
00oo000=1.3000000=1.20000000=1.2000000000=1.2000000=1.2
gboob0=110000000=11 000000011 0000000=1.000000000=1.0
gbooooo=l.o00b0ooooboo=1.0J00b00boO0ooboO0=1.0o0000000000O=1.0
oooboooood=1.0000000=1.0000000=1.000000000=0.90000=0.9
gboobooooo=o.e 0O00o0ooOo=0.9000000=0.9 00O00OO0OO=0.80000000O=0.8
0o0oo0=0.8 0000000=0.7000000=0.7000000=0.70000000=0.7
0ooooo0O=0.5
00oob0o0=1.40000000=1.10000000=1.00000000=0.9
goboooooboOob=09 000000OOOO=0.80000000O0=0.8000000000ODO=0.7
gboooooooboog=0.7 O000O00=0.7 O0O0OO0OO00O0O=0.6 D0O0OO0OOOOO=0.6
oooooOooo=0.50000000=0.5
oooooO0=0.800000=0.7000000=0.6000000=0.5
000obo000=1.20000000=1.1000000=1.10000000=1.0000000=1.0
ooooooo=0.9 0000000=0.90000000=0.90000000000=0.9
gbooooo=0.8 00000000O0=0.800000O00O00=0.80000000=0.7
ooooooo=0.7 000000O0=0.7000000=0.70000000=0.60000000=0.6
gbooogo=o0.5000000=0.5000000000=0.50000000000=0.5
0oooooooo=0.5

33 21.2 O 131° 45.4 0O 75km 0: 3.5
oooooooo=0.9000000=0.9000000C00O=0.8000000=0.8
obooooo=0.5
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0 ODoboobo=c.o 000000000o0=0.5000000000000=0.5
O 000000=0.6

34° 08.9 O 135° 09.8' O 5km O: 2.2
0O 000o0oo0og=0.5

38° 36.5 0O 142° 01.0' O 53km O: 4.4

O oooooooo=2.5

0 000b00000=230000000=2.00000000=1.90000000-=1.8
goboboood=1.s 0000000O=1.8 0000000=1.80000000=1.6
00oo000=1.6 000O0OO0O0DOOO=1.50000000=1.50000000=1.5
gboopooog=1.5

0 0bobobo=1.40000000=140000000=1.4000000=1.40000000-=1.4
gooodod=14000000=140000000=14000000=1.3000000=1.3
gboooo0o=1.3000000=1.3 000000000013 000000000=1.3
000000=1.20000000=1.2000000=1.10000000=1.10000000=1.0
gbooboo=1.0000000=1.000000000=1.00000000=1.00000000=1.0
gboooo=0.8 000000=0.8 0000000O=0.8 00000O0=0.800000000=0.8
gbooooooo=0.8 0000OO0O0ODOOO=0.80000000=0.7000D00ODODOD=0.7
obooooo=0.7 D00O000=0.7 OD0O0ODOOO=0.6 O0OOOO=0.5000000=0.5
oooo0=0.5000000=0.5

0 000000=2.20000000=2.200000000=2.100000=2.00000000=2.0
0000000=1.7 000000=1.700000=1.70000000=1.700000000-=1.6
oO0ooboo0oob=1.6 000OOO0DOO=1.6 0000000=1.6 0000000=1.6
gbOobooo=1.500000000=1.5000000+=1.5

0 0obdood=1.4000000=140000000=1.4000000=1.4000000=1.4
gboobobD=1.400000=13000000=1.3000000=1.300000000=1.3
00o0000=1.30000000=1.3000000000=1.2000000=1.2
gboboo0=1.2000000000=1.200000000=1.20000000=1.2
oboooo=1.2000000=1.2000000=1.10000000=1.2100000-=1.1
gbooood=l.10000o0o=1.1 00b0000=1.1000000=1.1 0000000=1.1
gbooooo=t1000000oo=1.00000000=1.00000000O=1.0
gooooooo0=1.00000000=1.0000000=1.0000000=0.9
ooooooo=0.9 000000O0O=0.90000000000=0.90000=0.9
ooooooooo=080000000=0.80000000000=0.80000000=0.8
gboogod=0.8 0000000O=0.8 0000O00OO=0.7000DODO=0.7000000O=0.7
gboo0oo0=0.7 00000=0.7 00000000=0.7 000000=0.600000000=0.6
o0oooo0ooo=0.6 000O00=0.5000000=0.5

0 0o0obob=140000000=1.10000000=0.7

0O 0000000=0.80000000=0.6

37° 11.5 0O 140° 53.7 O 8km Oo:3.1
0 oooboboooboobb=14 000000=1.2000000000000=0.7
oboooooo=0.7

37° 30.3 0O 141° 34.3 O 45km 0:5.4

0 000000=2.9000000=290000000=290000000=2800000=2.7
O0o0oo0o0o0o0=2.5000000=2.5

0 0ob0ob00=2.400000=2.40000000=2.400000000=2.400000=2.4
o0o0oboo0oo0=23000000=230000000=23000000=2.3
gboD000=23000000=230000=2.2000000=2.200000000=2.2
000000=2.1000000=2.1000000=2.100000000=2.100000000=2.1
gboo00=2.1000000000=2.0000000000=2.000000=2.0
gbhooood=2.0 0000000=2.00000000=2.0000000=2.0000000=2.0
oooob0o0=2.0 0000000=1.900000000=1.90000000=1.8000000=1.8
obooooobo=1.8 000000=1.8 00000000=1.80000000O=1.8
ooooooobo0d=1.8000000=1.80000000=1.70000000=17
gboogood=1l.7 000000D00=1.7 00000OO=1.7 000O0O0OO0O=1.7
0000000=1.7 000000=1.6 0O00D0O0O0O=1.6 O00O00O0=1.6 000000=1.6
gpboo0oo00d0=16 00000OO0O=1.6 00000=16000000=1.60000000~=1.6
obooooo=1.5

0 0oooboboobo=140000000=140000000=1400000=1.4
oboooo0=14 0000000=1.40000000=1400000000=1.3
000O0000=1.30000000=1.3000000=1.200000000=1.2
oboooo0=ta10000000=1.000000000=1.0000000DO=1.0
gboooo=i.0000000=0.90000000=0.8 0000000O=0.700000O=0.7

0 0000000=8.4000000=8.20000000=8.1000000=8.10000000=3.1
gboboo=s.o0000oooo0=s.o00bo0oo0=2.9 000000=2.9
00000000000=2.90000000=2.800000000=2.800000000=2.8
gboogo0=2.8 000000000O=2.7 000000O0O=2.70D00ODODO=2.7
000oo0000=2.70000000000000=2.6 000000000=2.6000000=2.6
000000=2.6 00000O00=2.6 0000000000=2.60000000=2.6
gbhooooobo=2.6 O0000O0=2.50000000=2.5000000000000=2.5
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gboooooboo=2.500000=2.500000000=2.500000000=2.5
oooboooooo=2.5
gboDb00=2.400000=24000000=2.40000000=240000000=2.4
000000=2.4000000000=2.4000000=2.4000000000=2.4
obOoo0000=2.4000000000=230000000=23000000=2.3
gbooooo=2.300000=2.30000000000=2.3000000000=2.2
000000=2.2000000000=2.2000000000=2.2000000=2.2
oboo0go0=2.2000000=2.200000000=2.20000000000=2.2
0000000=2.20000000=2.100000=2.00000000000=2.0
gboogoogob=2.00000000=2.0000000=190000000DO=1.9
00oo000=1.900000000=1.9000000=1.8000000=1.8000000=1.8
gooogod=1.7000000=1.7 000000=1.7000D00ODO0O=1.6 000O0O0OO=1.6
ob0o00o00=l.6e 0O0O0OO00ODO0O=1.6 DOOOOOOOOO=1.5

gpbooood=14 000000000=1.40000=1300000000=1.3000000=1.2
oboogoooo=1.2 000000=1.2000000000=1.100000000=1.1
00o000=1.100000000=1.00000000000=1.00000000000=0.9
g0oo0000=0.9 000000=0.800000000=0.800000000=0.7000000=0.5
gooooo=1.v
ooobooo0=1.200000000=1.1000000000=0.900000=0.9
gbOooooo=0.8 DO000O0O0O=0.8 0000000O=0.80000000O0=0.7
ooooooooo=0.7

gooboboO=1.8s 0000000=1.70000000=15000000=1.50000000=1.5
oboooo=1.4000000000=1.40000000=1.40000000=1.4
ooobooo=1.30000000=1.30000000=1.3000000=1.30000000=1.3
gboooooo=1.30000000=1.2000000000=1.20000000=1.2
gbobooodoo=1.100000o0b=1.100000o00=1.1000000000=1.1
goobobo=1.100000000=1.0000000=1.00000000=1.00000000=1.0
oooooO0=1.00000000000=009000000=0.90000000=0.9
ooooooooo=c90000000=0.8000000=0.8000000=0.7000000=0.7
gboooo=0.6 00O00O00=0.6 DUDOODOO=0.6 DO00OO0OO=0.6000000=0.6
oOooboooo=0.6 000O0OO0=0.5000000=0.50000000=0.50000000=0.5
gbooooooo=1.5

o0oooooooooo=0.8 00000000=0.8000000=0.8000000=0.6
ooooooo=0.6 D00OOO0OO=0.50000000=0.5
o0oooo0=190000000=1.9000000=1.8000000000=1.7
goooooO=1.7000000=1.6 J0O0O0O0O0O=1.6

oboboboo=1.4 0000000=1.4000000=1.3000000=1.300000=1.3
goopoooobO=1300000=1.2000000=1.2000000=1.10000000=1.1
gbooboooob=1.0 00000O0O0O=1.0000000=1.00000DODO=0.9
000oo00=0.9000000=0.9000000=0.90000000=0.900000000=0.9
ooooooooooo=0.8 00000=0.8 000000=0.8000000=0.7000000=0.7
gboooooo=o.6 DO00OO0OO0O=0.6 OOO0OO0O=0.6 000000=0.60000000=0.6
00o0oboo00=0.6 000C0OO0DO=0.6 000000=0.500000=0.5
gbooodo=2.1000000=2.1000000000=2.0000000000=1.9
00ooooO0o0=1.900000000=1.9000000=1.9000000000=1.8
gooogo=1.8 000000=1.8 000000=1.800000000=1.8000000~=1.8
o0oooo0o0=1.8000000000=1.7000000O00O0=1.700000=1.7
oooboooo=1.7 0000O000=1.7 000000000O0=1.6 00000O0O0O0O=1.6
oboo00o0=l.e D0O0000O0=1.6 U0O0O0O0O=1.6 0O00OO0O0OO=1.6 00000=1.6
000O000=1.6 O0O0O00O=1.6 00000C0O0=1.6000000=1.5000000=1.5
gboogo=1.500000000000=1.500000000=1.500000=1.5
obooooo=1.5

gboogod=14 00000000D0=1.400000000=1.4000000-=1.4
gboogoooo=1.40000000=1.4000000=1.4000000=1.4000000=1.4
oboodo=1.4000000=1.4000000=1400000=1.4000000=1.4
obooooo=1.3000000oo0=1.3000000=1.300000000~=1.3
00ooo0o00=1.300000=1.300000000=1.300000000000=1.3
gboooooooobo=130000000000=1.30000000=1.20000000000O=1.2
00ooo000=1.20000000=1.2000000=1.200000000-=1.1
gbooooooo=l.1 00000000=1.100000=1.1 000000=1.1
gboooooo=t1000000=1.100000000000=1.21000000-=-1.1
o0oobo0=1.1000000=1.100000=1.0000000=1.0000000=1.0
ooobooooobo=1.00000000=0.90000000=0.900000000=0.9
00oooo0oO0=09000000000=0.90000000=0.9000000=0.900000=0.9
oooobo0=0.8 0000000=0.8000000=0.700000=0.60000000000=0.6
obooboooo=0.5
o0oobo0o0=2300000000=2.10000000=1.900000000=1.8
obooooo=1.700000000C0=1.700000DO0O=1.6 DO0OOOOO=1.5
gbobooobo=1.500000000=1.50000000=1.5

goboodoo=14 000000=1400000000=14000000000=1.4
oooooooo0=13000000=13000000=1.300000-=1.3
gooooooboOooDo=130000000000=1.200000000=1.200000=1.2
gbooooo=l.200000000=1.1000000=1.10000000=1.1
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gboboboo=l.1000000=1.10000000=1.0000000=0.900000000=0.9
oooboooooo=0900000=0.8000000=0.800000000O=0.8
goboboooboob=08 000000O0O0OO=0.800000=0.70000000=0.7
000O000=0.7 0000000=0.6000000000=0.60000000=0.6
oooooOoo=0.6 000OO0OOO0OOOO0O=0.60000000000=0.6000000=0.5

oog O oooooo-=1.e

0 000000=1.3000000=1.30000000=1.20000000=1.20000000=1.2

gbobooooo=1.2000000=1.10000000=1.1000000=1.1000000~=1.1
obooooo=l.1000000=1.100000=11000000=11000000=1.1
gooboooobOob=11 0000000000011 000000=1.0000000DO=1.0
oooooooooob=t.0000000000=1.0000000=0.9000000=0.9
Oo0oobooO=0.900000=0.9000000=0.90000000=0.90000000=0.9
gbobogoooo=o.e 00000O=0.8 000000OO0OO=0.800000=0.8000000O=0.8
o0oooooo=0.8 000000=0.8 0000000=0.800000000O=0.8
gbooooo=0.8 000000D00O=0.7 0000000O0=0.700DODO=0.7
o0oooooo=0.7 0000O00O0=0.70000000=0.7000000=0.7
gbobooooboO0=0.7 0000O0ODO0OOOO=0.7000DO00ODO=0.7 000000O=0.7
gboodo=0.6 O0OO0OO0O0O0=0.6 OODOODOODOODOO=0.6 000000000=0.6
oOooboo0ooob=0.6 O0OOOOOO=0.6 00000=0.6 000000=0.600000000=0.5
oboog=0.5000000=0.5000000=0.50000000=0.5

ood O 00000000=1.000000000=1.000000000=1.0000000000=1.0
oooboooo=1.0 0000000=0.9000000=0.90000000=0.80000000=0.8
oooooooo0=0.8000000=0.70000000=0.70000000=0.7
oO0ooooO0=0.7 0000C0O00OCO=0.700000O0O=0.70000000=0.7
gboo0oo00=0.6 0O000O00O=0.6 OO0OOOOO=0.6000000O=0.6000000=0.6
00000=0.6 00O00OO0O0O=0.5000000=0.500000000=0.50000000=0.5
oooooOoo=0.50000000=0.5

ood 0O 000000=1.4000000=1.2000000=1.2000000=1.200000000=1.1
goboooo=1.10000000=1.000000D00DOO=1.000000000=1.0
oboogo=1.00000=1.0000000000O0=0.900000000O=0.8
oooooooo=0.8 000000O=0.7 OODOOOOCOOO=0.70000000=0.7
obo00=0.7 000000=0.6

ood O 0oO0obo0oooo=1.0000000000=1.0000000=1.000000000=0.9
ooboooooo=0.900000000=0.900000000O0=0.9000000000O=0.9
ooooooooooo=0.9 000000000=0.800000000=0.800000000O=0.8
gboogooooo=0.8 0000O0O0OO=0.8000000000O0=0.7 OODODODOD=0.7
gboogoooo=o.7 D000O0O0O0OO=0.7 0000O0OOO=0.7 OODODODO=0.7
gbOoogogo=o.7 OO00O0O0ODOODO=0.7 CODOOODOOO=0.7ODODODODODO=0.7
ooo0o0o0o0o=0.6 000O000O000=0.6 000000000O0=0.600000000=0.6
00oooo0oo0=0.6 000000000=0.60000000000=0.6
gooboooooooo=0.500000000=0.5000000=0.50000000000=0.5

goooo 0 0ooooobooboobo=1.10000000=0.8000000=0.80000000=0.6

ood 0 0boob0obb=1100000000=0.90000000O0=0.70000000=0.7
gbooboooooon=o.7

ood 0 000000o000=0.8

gboooo 36° 51.8 O 139° 27.6' O 3km O: 2.4
ood 0 oooooo=1.1

oooo 38° 46.8' O 141° 55.7 O 52km O: 3.6
oogd O 000o0oboooo=0.7 0000000=0.50000000=0.5
ood O 00000000=0.90000000=0.8000000=0.5

gboooooooo 32° 10.7 O 130° 31.3 O 8km 0:-3.1

god O O0o0o0b0=1100000=1100000000=1.00000000=0.9
gbooooooo=0.8 0O000O0O0O0=0.6 0000000O=0.5

gooo O 0000000=1.300000000=1.10000000000000=0.6

gooogo 34° 13.1' O 135° 12.00 O 4km 0: 1.9
goooo O 0ooobbOoob=1.000000000=0.6

oooo 36° 13.8° 0O 141° 55.9° O 33km O:5.4
ooogd 0 0oobooo=2.5
O 000000000=2.400000000=23000000=23000000=2.2

gbo000=2.2000000=2.100000000000=2.1000000=2.1
gbooood=2.1000000=2.000000=2.0000000=2.0000000=2.0
gpboooooodb=20000000=2.00000000=1900000=1.9000000=1.9
gboogo=1.e0000oob=190000000=1.9000000=1.900000=1.8
000O0000=1.8000000=1.800000=1.8000000=1.80000000+=1.8
gboooo=1.8 000000=1.8 00000000=1.8 000000=1.800000000O~=1.8
00000=1.8000000=1.7 000000000O0=1.7000000=1.7
goboogoooboooOo=1.7 00000OO=1.70000000O0OO=1.6 DODOODOO=1.6
gboo0dod=l.e D00000O0=1.6 OO0OO000=1.6 DOOOO0O0OO=1.6 0000000O~=1.6
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oogd

ood

oogd

oog

oog

ooog

ood

obobOdoO=1.6e 00000=1.6 O0O0OO0OO0O=1.6 DOOO0OOOOOOO=1.6
000o000O000=1.6e 0O00OD0OOO0OO=1.6 000O00O=1.5000000=1.5
gooogoo0=1.5000000=1.5000000=1.5000000000=1.500000=1.5
gboboooood=1.5
gbooooobO0oD=14000000=1.4000000000=1.400000000=1.4
gboogoo=1.40000000=1.4000000=1.400000000000=1.4
o0oobodoO0=1.4000000=1.300000000=1.30000000=1.3
gboooooo=130000000o0=1.3000000=1.3000000-=1.3
00ooo0o00=1.30000000=1.30000000=1.30000000=1.200000=1.2
gboogd=l.2000000=1.2000000=1.20000000=1.100000=-1.1
ooooooob=1.10000000=1.100000000=0.9000000=0.9
ooobooooo=0.9000000000=0.6 00000000=0.5

oboo00d=l.6e D00OO0O0O0O0=1.6 OODOODOO=1.5
gboogdo=1.4000000=14000000=140000000=1.4000000000=1.3
oboo0ogo=1300000000=1.2000000=1.20000000=1.1
o0oooo0oob=1.10000000=1.100000=1.100000000=1.0000000=1.0
o0oo0000=0.9 000000=0.90000000=0.900000000=0.9000000=0.9
gbooooooo=0.9 000000=0.8 DOOOOOO=0.8000000=0.8
gooogod=0.8 0000O00=0.8 000000=0.7O0OOO0OO=0.7 00000D0OD=0.7
oboo0oooo=0.7 00000O0=0.5
oooo000=1.900000000=1.80000000=1.70000000=17
ob0oo0000=1.7 000000=1.7 00000000 O0=1.6 0OOODOOD=1.6
0000000=1.6 0000O0O0=1.6 000000O00O=1.6 0000000O=1.6
oOo0ooo0o0o00o0=1.6 000O0O0O0CO=1.6 000000=1.5000000=1.5
gbooboboo=1.50000000000=1.500000000=1.5000000=1.5
gbooodod=1.400000=1.4000000=1.400000=1.4000000000=1.4
gooooo=1.4000000000=1.4000000=130000000=1.3
00oooo0o0ooo=1.3000000=1.3000000=1.2000000000=1.2
gbooboo=1.20000000=1.20000000=1.2000000=1.200000=1.2
gbooooobo=1.2 000000000=1.2000000000=1.2000000=1.1
ooobooo=1.000000000C00=1.00000000=1.000000=1.0
gbooooobo=1.0 0000000=0.90000000=0.9000000000=0.9
oooooOo=0.8 0000000000=0.80000000000000=0.800000000=0.8
gboogoooo=0.7 000O0ODO=0.7 O0D0OO0OOOO=0.7 DODODOO=0.7
oooooooo0oo=0.7 00000OOO0OOODODO=0.6
gboogo=2.200000000=2.10000000=2.0000000=1.9000000=1.6
gboo0oood=l.6e 0000O00=1.6 UO0OO0O=1.6 DO0OOOOO=1.6 000000O=1.5
gboogo=1.5

oboooo0=14 00000000=1.3000000=1.300000000=1.3
00o00000=1.30000000=1.200000=1.2000000000=1.2
obooooobo=110000000000=1.10000000000=1.200000000=0.9
gboogo=o.9 00000oooboo=0.8 0O0O0OO00OO=0.7 000D0ODODOO=0.7
o0oooO0o0o0=0.7 000O0O0O0O0OOOO=0.600000=0.600000=0.5
gboobooo=1.8 0000000=1.5000000000=1.5000000=1.5
oboboooood=1.5

gobooooo=14 0000000=1.40000000=14000000=1.3000000=1.3
000o000=1.3000000=1.2000000=1.20000000=1.2000000=1.2
o0ooob00=1.200000=1.2000000=1.2000000=1.200000000000=1.2
gbooood=l1000000=1.100000000=1.10000000=1.0
oooooOooooob=1.0o0000000000=1.0000000=1.00000000=1.0
goobooob=1.000000=1.0000000=0.90000000=0.9000000=0.9
o0ooooO0=09000000000=0.8000000000=0.80000000000=0.8
oooobO0oOoo=0.8 000000=0.8 0000000=0.8000000=0.8000000=0.8
gboog=0.8 00000=0.8 00000O00O0O=0.8000000000=0.700000O=0.6
o0ooo00=0.5000000=0.5
gbooooo=2.30000=2.100000=2.1000000=2.10000000=2.1
00o000=2.0000000=1.90000000=1.9000000000=1.9000000=1.9
gboogoo=1.90000000=1.800000=1.8000000=1.80000000=1.8
gboogooo=l.7 00o0000=1.7 000000=1.7 O00O00O00OOO=1.7
gboo0oodbod=1.e OOO0ODOOD=1.6 DO0OODOOOO=1.6 DODODOO=1.6
gboo0do=l.e 00O00O00=1.50000000=1.5000000=1.5000000=1.5
gboo0=14 0000000000=1400000000=14000000=1.4
gboogo=130000000000=1.3 00000000=1.3000000=1.3
oooObo00000=13000000=1300000000=1.3000000=1.3
goooooooboooD0=130000=1.300000000=1.3000000=1.3
gbooboboo=l.2000000=1.20000000000=1.2000000000=1.2
o0oob0o0=1.2000000=1.20000000000=1.1000000=1.1000000=1.1
gboooooboo=l.o0000boOobooo=1.0000000=0.8000000=0.8
00oooo0o00=0.8 000000=0.8000000=0.7000000=0.6
gbooodo=1.20000000=1.2000000=1.0000000=1.00000000=0.9
00o0oo000=0.8000000000=0.8000000=0.600000=0.5
ooobooob=1.400000000=1.2000000=1.00000000O=1.0
gboooooo=1.000000O00=1.00000000O0=1.000000000O=1.0
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21 0155

21 0520
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21 16 03
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oog
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ood

gooo
god
oood

gbobooooboo=1.o0000000=1.0000000=0.90000000O=0.9
o0ooooooo0=0.80000000=0.800000000=0.8000000=0.7
gboooooobO=0.7 00000O00O=0.70000OO0=0.7 O0OOOODODO=0.7
00o0o0000=0.7 000000=0.6 0000000=0.6000000=0.60000000=0.6
ooobooOoo=0.6 000O0OOO=0.6 000000=0.5

0 ObobOobobooobo=1.4 00000000011 0000000C0=1.100000000-=11
gboooodbo=1.1 000oooboob=1.1000000000=1.1 00000000=1.1
oboboooobooobOo=11 000000000=1.1 000000000=1.0
ooooooood=1.000000000=1.000000000=1.000000000O=1.0
oooboooooo=ce 00000000=0.900000000=0.900000000O=0.9
ooooooooo=08000000000=0.8000000=0.800000000=0.7
gboo0ooooO=0.7 O00OO0DODODOOO=0.6 OOOODOODOODOO=0.6
gbooooooob=o.6 D0O0OO0OOOOOO=0.6 000O00OO0O0=0.6 00000000=0.6
o0oobO00o000=0.5

0 0o0obooboooobo=1.1 0000000=1.0000000000=0.70000D00DO0ODO=0.6

0O0ooo000O=0.5

gbooobgooo=t.o0

obooooooo=0.9

|

36° 55.2° O 139° 24.2 O 5km 0:23
O 0oooobooo=1.2

35° 447 0O 140° 58.5 O 13km 0O: 3.9
0 0oooooo=1.8
0 ooobooboob=1.00000000=0.8 0000000O0=0.7000D00DO0O=0.6
00000=0.6 000000=0.500000=0.5000000=0.500000=0.5
0O 0oboooo=1.9000000=1.5
0 000000=1.400000=1.3000000=1.1000000=1.00000=0.8
oOooooOoo=0.8 00000=0.70000000=0.6

38° 17.6° O 141° 36.4 O 54km 0O: 3.3
0 oooooo=1.4

36° 14.6° O 137° 56.0' O 6km 0: 2.5
O 0000000=1.200000=0.7

38° 25.3 0O 142° 02.8 O 45km O: 3.8
O 0o0ooboboo=0.50000000=0.5
0 0o00ob0b=1.10000000=0.9

oooooooooo 35° 32.3 O 138° 56.6' O 22km 0:2.9

ood

oooooo
ooo

ood

0 oooooboo=0.o000000DO=0.8 000000O0=0.700000O0000O=0.6
o0o0b000000=0.5

35° 42.6' O 140° 39.1' O 49km O: 45

0 0000000=8.300000=3.2000000=3.0000000000=290000000=2.5
00o0O000=2.5000000=2.5

0 000000=230000000=230000=23000000=23000000=2.2
ob0000=2.2000000=2.20000000=2.10000000=2.1
gbOoo0ooooob=2100000=2.100000000=210000000=2.1
obO0oo000=2.1000000=2.0000000=2.00000000=2.0000000000=1.9
o0o000=1.90000000=1.9000000000=1.8000000=1.8000000=1.7
oboo0o0oo0oo0=1.6e D00DODODOO=1.6 000000O=1.6 DO0OO0OO0O0OO0OO=1.6
gboooooo=1.50000000=1.5000000=1.5000000=1.5

0 0boboboobd=14000000000=1.4000000=1.4000000=1.4
gbooooo=1.400000000=1.400000000=1.300000000=1.3
00o0oo0o00=1.20000000000=1.200000000000=1.200000=1.2
gooboooobO=1.2000000=1.1 0000000=1.2000000-=1.1
oooooooo0=1.00000000000=1.0000000=1.00000=1.0
o0oobooO0=1.0000000=1.0000000=0.9000000=0.900000000=0.8
gboooooboo0=0.8 00000O0=0.500000=0.5

O 000000=230000000=2.0000000=1.800000=1.70000000=1.6
obo000=1.6 000000=1.6 DOD00O0O0O=1.6 000000=1.500000000=1.5
oboooooo=1.5

0 0o00bdob=1400000000=1.400000=1.40000000=14000000-=1.4
gbooooo=14 000000=1.400000000000=1400000000000-=1.4
ooobdOb=1.40000000=1.300000=1.30000000=1.30000000=1.3
gboooo=1.3b0000ooboooo=1.3000000=1.1000000=1.100000-=1.1
00oob00=1.1000000=1.1000000=1.1000000=1.0000000=1.0
gbooooobob=100000000000=1.0000000=1.0000000=1.0
oooooooooob=1.00000000=1.0000000=1.000000=0.9
o0oobooO0=0.900000000=0.90000000=0.9000000=0.8
oboboooooo=0.8 00000O0=0.8 000000=0.8 000000=0.800000=0.7
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oboooboooo=0.6

0oooooo=0.9

gboobOobO=1.1000000=0.900000=0.70000000=0.5
oooooO0=1.0000000000=0.9000000000=0.90000000=0.7
oOoo0ooO=0.7000000=0.6 000000=0.500000=0.5000000=0.5
oboooo=0.5

oooboooooo=09 000000000=0.9000000000=0.90000000000=0.9
gboooooo=o.8 D0000O0O0O0O=0.7 000000O00OO0=0.7000D00OO0OOO=0.7
00o0o000=0.7 00000O00O=0.500000000=0.500000000=0.5
oooboO0O0o0oO=0.5

0o0oooooo=0.7 0000O00ODO=0.5

36° 50.9' O 140° 33.5 O 7km O: 3.6
gboogoogo=1.7
oboo00=1.20000000000=1.100000D00D0=1.0000000=0.5
ooooooo=0.5
oboogooo=1.7
gbooooooo=1.2000000000=1.1 0000000=1.1 000000=1.0
oooooO0ooo0=0.800000=0.800000000=0.6000000=0.5

36° 16.2° O 141° 48.6' O 54km : 5.0

37°°29.9 0O 141° 29.4 0O 46km : 3.5
000O000=1.6 00O000O0O0=1.50000000=1.5
oo0ooooobobo=1.4000000000=1.40000000=1.3000000=1.3
gboooooboo=1.300000000=1.30000000=1.3 000000=1.2
oooboooob=1.20000000=1.20000000=1.20000000000=1.2
gbooboboOo=1.2000000=11000000=1.1 000000=1.21000000=1.1
000000=1.100000=1.10000000=1.0000000000=1.000000=1.0
o0oo0boooo0o=1.0000000=0.90000000=0.9000000=0.90000000=0.9
gboog0=0.8 D00O0000O=0.800000=0.80000000000=0.7
0O0ooboo0ooo=0.6 000OOO=0.6 0000O000000=0.5000000000=0.5
oboobooo=1.90000000=1.80000000O0=1.8000000O=1.7
0000000oo00=1.7000000=1.6 00000000000=1.6
goboooo0d=14 000000000=1.40000000=140000000-=1.4
oooooooo0=13000000=1.3000000=1.300000000=1.300000=1.3
obooboO0o=13000000=1.3000000=1.2000000=1.20000000=1.2
gbood=l.200000000000=1.200000=1.2000000=1.200000-=1.1
gbood=l.1000000=1.10000do=1.1 00000=1.1go0oooo=1.1
gboboo00=11000000=1.10000000=1.000000000=1.0000000=1.0
oooooooo00=0.9000000=0.90000000=0.9000000=0.9
o0o0000=0.9 00000000=0.800000000=0.800000000=0.6
gboo0ooooo=o0.6 D0OOO0O=0.5
gpboogo=1.7000000=1.700000=1.5
gboooooobo=1.4000000=1.40000000=1.20000000=1.2
o0ooboo00=1.2000000=1.100000000=1.00000000=1.0000000=1.0
gboogo=09 00000000=0.800000000000=0.800000000O=0.8
0Oooooo=0.5
o0oobooo0o=1.20000000=1.200000=1.2000000=1.1000000=1.1
gbooboo=1.000000=0.900000000O0=0.8000000=0.8000000=0.8
oooboooooo=08000000=0.8000000000=0.800000000=0.8
000000=0.70000000=0.60000000=0.6000000=0.6
00ooo000O=0.5
gboooo0=1.20000000=0.700000000=0.6 00000000=0.6
gboooo0=0.6 O0O0OO00OO0=0.50000000=0.5
ooooooooo=09000000=090000000=0.800000000=0.7
oboo0ooo=0.6 0O0O0O0O00O0O=0.5
oooooO0=1.00000000=0900000=0.6

37° 00.8 O 138° 39.7 O 9km 0: 2.4
gboopbgooo=1.8
gbob0ooo=1.400000000=0.6

43° 04.5 0O 141° 14.9 O 6km T 2.
43° 04.7 O 141° 15.1" O 8km T 2.
obo0000=1.100000000=0.5 DDDDDDEl:O.S

35° 42,1 O 140° 53.6' O 11km 0O: 3.2
obooooo=0.9

38° 19.9° O 141° 41.7 O 52km 0:4.1
gbooogoogd=1.5
gbooood=14 0000000=140000000=1.30000000=1.0
gboooooo=0.9 0000000=0.90000000=0.8000000=0.80000000O=0.8
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gbobooooo=o.8 00000O00=0.7000000O0=0.60000000O0=0.6
ooooooo=0.5
oboobOdbO=2.1000000=1.8000000=1.8000000000=1.80000000~=1.8
00oobo0o0=1.700000=1.7 000000=1.7000000=1.6 00000000=1.5
gbobooo=1.5

oboooooo=1.4 00000=1.3000000=1.3000000=1.30000000~=1.3
o0oob0o00=1.30000000=1.300000000=1.3000000=1.3000000=1.2
gboogo=1.20000000=1.20000000=1.20000000=1.20000000=1.2
gboogd=l.1000o000=1.100000=1.10000000=1.1000000=1.1
gbooood=ta 00000000=11000000=110000000D=1.0
ooooooobo=1.000000=1.000000000=1.000000000O=1.0
gboooooboOd=1.0o000000=1.00000000=1.00000000O=0.9
oboo0goo=0.9 00000000=0.90000000=0.9000000=0.9000000=0.9
o0o0=0.90000000=0.90000000=0.900000000=0.800000000=0.8
ooooooooo=0.8 000000=0.80000000=0.8000000000=0.8
000O000=0.8 000000=0.7000000=0.7000000=0.60000000=0.6
o0oo0o0o0o0o0O0=0.6 000000=0.6 00000000=0.6 0000000=0.6
oboogoogd=1.5
goboogod=1l.2000000=1.2000000000=110000D0000O00=1.2
gbooooooo=1.o0000000=0.9000000=0.90000000O0=0.8
oooooooo=0.8 0000000O=0.70000000=0.7000000=0.6
obOo000000=0.6 0000000O=0.6 0000000000=0.600000000=0.6
ooooo0ooo=0.5000000=0.5000000=0.5

0O0oo0ooo0o0oo0=0.6 0O00OOODO=0.5

34° 09.9 O 135° 08.2° O 8km 0: 2.5
oooooooo=0.7

38° 16.00 O 141° 51.9° O 46km O: 3.4
gboooo=1.0

36° 12.3 0O 139° 13.4 O 127km O: 3.5
ooooooo=0.5

36° 16.6' O 141° 53.3 0O 44km O: 4.5
gbooogoog=1.5
gboogo=l.200000000000=1.0000000=1.000000=0.500000=0.5
ooooooo=0.5
ooooooo=0.5
ooooboOo=1.000000O=0.7

37° 34.0 O 141° 45.8 0O 48km O: 4.6
gboogo=2.5
gbooooo=l.s 00000ooooooboo=1.s 000000=1.7 00000O00O=1.7
000o0000=1.6 O00O0OO0DO=1.50000000000000=1.5000000=1.5
oboooooooo=15000000000=1.5
o0oooo0ooo=1.4000000=1.30000000000=1.3000000000=1.3
gbooood=l.20000000000=1.200000000=1.2000000000=1.2
gbooood=l10000o0=1.10000000=1.100000000=1.1
gboogod=11000000=11000000=110000000=1.0000000=1.0
gboooo0=l.o0000000=1.00000000=1.00000000DO=0.9
oooooOoooO0o=090000000=09000000000=0.9000000000=0.9
oooooooo=0.8 000000O=0.8 000000=0.80000000=0.800000=0.7
gboooooooooo=o.7 000000=0.7 OO0O00O0O00=0.7 000O0O0ODODOO=0.7
oooooOo=0.7 00000O00=0.70000000O0O=0.7000000=0.7
gboooooo=0.6 000O00=0.6 DOOO0OOOO=0.60000000O0=0.5
0oooo0oooo=0.5
gbooooo0o=1.80000000=1.6000000O=1.5
00ooo00=1.400000=1.40000000=1.100000000=1.100000000=0.9
oooob=0.9 0000000=0.90000000=0.800000000=0.8000000=0.8
gbooooo=0.8 00000=0.7 O00O000O0O=0.7 O0OOOOO=0.70000000O=0.7
00oo0o0o00o0=0.6 0000000=0.6 000000=0.600000=0.6000000=0.5
oooooooo=0.5

37° 06.2 O 140° 41.00 O 8km 0:5.2
obobooobo0o=43000000=8.90000000=8.90000000=3.7
gboOo000=8.20000000=3.200000=8.100000000=8.100000000=3.0
gboooo=s.0o00oooo=s.o0g0o0oo0o=3.oobooooo=s.000boooooo=2.9
00000=2800000000=2.8000000=280000000=2.70000000=2.7
obOoo000=2.70000000=2.70000000=2.6 000000000=2.6
000000000=2.6 000000=250000000=25000000=2.5
gboOoDo000=2.500000000=25000000=2.5
obooooobo=2.4 000000=2.4000000000=240000000=2.3
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gboooooo=230000000=2.3000000=2.30000000=2.3
o0oooo0o0oboo0oobobO0=230000000000=2300000=2.20000000=2.2
gboo000=2.2000000=2.2000000=2.2000000=2.1000000=2.1
000oo000oo0=2.1000000=2.1000000=2.0000000=2.0
gboooooobO0oD0=2.0 0000000000=2.00000000=2.000000000=2.0
gbood=2.0 00000000=1.90000000=1.90000000=1.9000000=1.9
o0ob=1.9000000=1.900000000=1.8000000000=1.8
gboooooo=1.8s 0000ooooo=1.8 0000000000=1.8 00000000O=1.7
gboooooboo=1.7 00oOooOOOO0O=1.7 000O0OO0OO0O0=1.7 DOOODOOODODO=1.7
gobooooobo=1.7 00000DO0OO=1.7 D000OO0O=1.7 DODODOO=1.7
ooooo0oooooobb=1.7000000000=1.7 000000=1.6000000+=1.6
gooo0o00b0D00=1.6e DO00O0OOOO=1.6 DO00O0O0O=1.6 DO0DOOOOOO=1.6
gboo0do=l.e DO0O0O00O0OO=1.5000000=1.5
gobooooobo=140000000000=14000000=140000000=1.3
gboooooobooD=130000000000=1.3000000000=1.300000000O~=1.3
00ooo0o0=13000000000=1.20000000000=1.20000000000=1.1
gboogoof=1.1000000=1.1 0000000=1.2100000000=1.0
oboooooo=o.9 000000OO0=0.8 00000000=0.8000000O=0.7
o0oobooO0ooo=0.6 00OOOOO=0.500000000=0.5

gboooo=2.6
00ooo0o00ob0=2.100000000=2.000000000=1.9000000000=1.8
gbooooo=1.s 0000000=1.70000000000=1.7 00DO0ODODO=1.7
00000=1.7000000000=1.7 0000000O0=1.600000000=1.6
00o0ooo0oobo00=1.6 0000000=1.6 0000000=1.500000000=1.5
oboooooo=1.5000000=1.5
o0oobooob=1.40000000=1.4000000=1.40000000=1.400000=1.3
gobooooob0o=1.3000000000=1.2000000=1.21000000=1.1
o0oooooooo0ooob=1.00000000=1.0000000=1.0000000=1.0
oooooooo=1.0000000=0.900000=0.9000000000=0.9
gboooooooo=oo0boobooo=0.9 0000O0O=0.9000000=0.9
ooooooooo=09000000000=0.90000000=0.900000=0.8
obooooooo=0.8 0O000O0O0O0=0.80000000=0.8000000O=0.8
oooooOooo=0.7 000O00O0O=0.7000000=0.6 000000=0.5
gboo00d=2.3000000=2.2000000=2.1000000000=2.00000000=2.0
oooo0o0=1.900000000=1.90000000=1.900000000=1.9
gboogo=19000000=1.8000000=1.80000000=1.800000000=1.8
gboogood=l.s00000=1.8 000000=1.8 000000OO0=1.8000000=1.7
gboogod=1.7 000000D00O=1.7000000C0=1.6 000O00OOO=1.6
oboo0O00000=1.6 000000=1.6 J0OO00O0O0O=1.6 00000O=1.6
gbooooooo=1.500000000=1.500000=1.5000000=1.5
oboooooo=1.5

gbooooo=14 0000000=1.4000000=1.40000000-=1.4
gboogoodb=14000000000=140000000=14000000=1.4
obooooo=1.3000000oo=1.300000o00=1.3 0000000=1.3
o0ob0000=1.3000000=1.30000=1.3000000=1.2000000=1.2
gbooboboOo=1.2000000000=1.200000000=1.20000000=1.2
ubobooo=l.10000000=11000000=1100000000=1.1000000=11
o0obO0=1.10000000=1.0000000=1.0000000=1.0000000=1.0
gbooboooo=0.9 0000000=0.8000000=0.800000000=0.8000000O=0.8
ooobooooo=0.7 O00C0OODOO=0.7000000O=0.600000=0.5
gbooboboO=1.9000000=1.8000000=1.70000000=1.5
000000=1.40000000=1.4000000=1300000000=1.20000000=1.2
gboogoo=1.2000000=1.1000000=1.1000000=1.1000000=11
gboooooob=t1 000000=1.1000000=1.000000=1.0000000=1.0
oOooooooo=1.0000000=1.00000000=1.0000000=1.0000000=1.0
gbooooooo=1.o0000000=0.9 000000O0=0.9000000=0.9
ooooooo=0.9 0000000=0.90000000=0.90000000=0.8000000=0.8
oooooo=0.8 00000000=0.8000000000O0GO=0.800000=0.8
o0ooo00=0.7 0000000=0.7000000=0.700000=0.7000000=0.6
o0oooo0oooo=0.6 00O0O0O0OO0O0O=0.500000=0.50000000=0.5
gbobooooboo=2.3 000000000=2.1000000=2.00000000=2.0
gboogooboooboOd=2.0 000000=1.90000000=1.8000000=1.8
obo00=1.8000000=1.7 0000000=1.7 000000=1.7 00000000O=1.6
00000=1.6 000000O0=1.6 00000=1.6 00000000 0O=1.600000000=1.6
gboo000=1.6e 0000000O=1.6 OO0OOOOOOO=1.6 0000000=1.6
gbooood=l.e DOO0OO0O0O0OO=1.500000000=1.5000000=1.5
gbooooooo=1.5 000000=1.50000000=1.50000000000=1.5
gbooooo=1.50000000000=1.5000000=1.5
obooooooboo=1.4000000=1.400000=1.40000000=1.400000-=1.4
goobooooboDbO0=14 0000000000=1.4000000=1.3000000=1.3
00o0oo0o0=1300000=1.300000000000=1.3000000000=1.3
ooobooOoobo=1.300000000=1.3000000=1.20000000=1.2
obobodoo=l.2000000=1.2000000000=1.2000000=1.2000000=1.2
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gbooboboobo=1.1000000=11 000000011 00000000=1.200000=1.1
gboodo=1.100000=1.1 00000000=1.1000000=1.1000000=1.1
gbooodo=1.1000000=1.1000000=1.0000000=1.000000000=1.0
oooooO0=1.0000000=1.00000000=1.000000000=1.00000000=0.9
ooo0oO0oOoo0=0.9 000000=0.9000000=0.90000000000=0.9
gboooo=0.8 000000=0.8000000=0.70000O00O=0.7
o0ooboO0o=1.8000000=1.80000000=1.80000000=1.800000000=1.7
oboooo=1.7000000=1.7 00000000=1.7 000000ODO=1.6
ooooo0oooO0=1.e 0000000=1.50000000=15000000000=1.5
goboogoobo=1500000000=1.5000000=1.5
gboooooboo=1400000000=1.4000000=1.40000000000C0=1.4
gooodo=1.40000000=14000000000D0=1400000000=1.3
gboooof=l.200000000=1.20000000=1.2000000=1.2
gboogod=1.2000000=1.2000000=1.1 0000000=1.1
gboooooboob=11000000=1.100000000=1100000000-=-1.1
oooooOoooO0oo=1.0000000000C=1.0000000O0=1.0000000=1.0
gboogo=1.000000000=1.0000000D00D0O0=0.900000=0.9
oboo0ooo=0.9 000000=0.90000000=0.9000000=0.8
oooooOoooO0=0800000000=0.80000000=0.800000000=0.8
obooooooooo=0.8 000000=0.80000000=0.800000=0.7
00ooo000=0.7 000000=0.70000000=0.7000000=0.60000000=0.6
gboooo0o=0.6 0O0O0O0OO=0.5

0Ooooo0o=0.5
o0oobo0o=130000000=1.1000000000=0.90000000=0.9
gbooooo=0.9 000000O0=0.9 000000O0=0.80000000O0=0.6
oooooooo=0.7 D0C0OO0DOOOOOO=0.6 00000000=0.50000000=0.5
0ooooO00O=0.5
00oooo0ooo0=1.2000000000=1.20000000=1.1000000-=1.1
gbooooob=1.00000000=1.00000000=1.00000000O=1.0
gboogoo=1.00000oob=1.0000000=1.00000000DO=0.9
oooooOoooO0o=09000000=090000000=0.80000000=0.8
gboogoo=0.7 000000O0O0=0.7 D00OO0OOOOO=0.7000D00ODOO=0.7
oooo00o0=0.7 0000O00O=0.70000O000=0.70000000=0.600000=0.6
ooooO0o0oo=0.6 D00O0O0OO0=0.6 OOODOOOOO=0.60000000O=0.6
oooooOoo=0.5000000=0.5
gboodo=14000000000=1.30000000=1.2000000~=1.1
gboogood=ta0000oo=1.10000000=11000000=1.0000000DO=1.0
oooooOoo0o=1.000000=09000000=0.9000000=0.9000000=0.9
ooo000=0.9 000000=0.900000=0.8000000=0.80000000=0.8
00o0O000=0.8 000000=0.8000000=0.800000000000=0.8
gboogoooo=o.7 D0000OO0ODOOO=0.7 00ODOOO=0.7 000000O=0.7
oboogo=0.7 00000=0.7 OD0OO0OO=0.7 000000=0.7000000O=0.6
ooooO0o0oo0=0.6 D00OOOODODOO0O=0.5

gbooooobo=13000000=1.1 000000=1.00000000=0.90000=0.9
00oooo0ooo0=0.7000000=0.70000000=0.500000=0.5

37° 06.9° O 140° 40.9° O 7km 0: 2.9
ooooooo=o0.7

37° 06.8" 0O 140° 41.2 O 8km 0:2.9
ooooooo=0.6

37° 06.9° O 140° 40.8' 0O 7km O: 2.8
oboooooo=0.8

37° 06.3 O 140° 42.2 O Tkm 0:24
ooooooo=0.5

37° 07.7 O 140° 41.0 O 8km O: 3.4
gpboogogd=1.e
gbooooooo=1.20000000=1.0

39° 06.6' O 142° 26.5 0O 31km O: 3.9
oooobO0ooo=0.6

38° 21.1' O 141° 46.9 O 50km 0: 3.0
0ooooo0oo=0.9

36° 02.27 O 139° 56.9° O 43km 0: 3.0
obO0o00=0.8 000000=0.8 0000000=0.700000000D00=0.6
00o00000=0.500000=0.5
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154 (24 10 47 | OOOCOOO 27° 58.5 0O 130° 14.5 0O 41km O: 4.4
gooo 0 oogog=1s
0 00b000=1.400000000=1.20000000=0.50000000=0.5
155 (24 1205 | OOOCOOO 37° 06.9° O 140° 41.2 O 7km O: 2.8
oog O ooooooo=o0.7
156 (24 14 34 | OOOOCOO 37° 06.8' O 140° 40.9° O 8km O: 3.4
ood 0 ooooooo=1.7
0O 0oooboboobo=1.0000D00DO=0.7000000O=0.7
157 |24 18 37 | ODOOO 38° 18.8' O 141° 53.3 0O 46km O: 3.4
oog 0 0oooooo=0.80000000=0.5
158 |24 1948 | DOOOOO 37° 06.8" O 140° 41.00 O 8km 0: 3.2
ood O 00000b00=1.3000000=1.0000000=0.5
159 124 2054 ( ODOODOOO 28° 13.3 0O 129° 29.1 O 33km O: 3.6
goooo 0 0boobdbb=11 000000000011 0000000=1.000D00O00O0OO=1.0
gboooooooo=1.00000000=0.7
160 |25 1337 | OOOO 38° 12.3 0O 142° 27.1 0O 35km 0:4.2
ood 0 ooooog=0.6
161 |25 21 44 ( OOOOOO 37° 06.9° O 140° 41.8 O Tkm 0:3.0
ood 0O 000oooboo=0.8
162 |25 2238 | OOOOOO 37° 06.8° O 140° 41.8 O 8km 0: 3.2
(@) |25 2239 | 0O0O00O0OO 37° 07.2 O 140° 41.2 O 6km 0: 2.8
ooo 0 ooooooo=1.2
163 126 0008 ( OOODOODO 37° 07.1' O 140° 41.7 O 8km 0:3.0
ood 0O 0000000=0.50000000=0.5
164 126 0155 ( OOOO 36° 53.00 O 141° 04.3 O 51km 0: 3.8
ooo 0 0o0ooooooo=1.e
0 0Oboboboobo=14 000000000=1.2000000=1.1000000=1.1
o0ooooooo0=1.10000000=1.000000=1.000000000=0.9
ooobooOo=0.9000000=0.9000000000=0.900000000=0.8
00o0oo00=0.800000000=0.8000000=0.7000000=0.7000000=0.7
o0oooooo=0.7 000C0OO0O=0.700D0O000=0.6 00000=0.6000000O=0.6
gboooooboO=0.6 DOO0O0O0O0OOO=0.500000=0.500000000=0.5
ooooooo=0.50000000000=0.5
oog 0 0o00b0ob0d=11000000D00=1.0000000=0.90000000=0.8000000=0.7
00ooo00ooo=0.6 O0O0OOO0D0OO=0.6 000000=0.5000000=0.5
ooog 0 0ooobobob=1100000D000=1.21000000=1200000000=1.0
gboboooooboo=1.o0000Oobooobo=o000000D00O=0.90000000=0.8
oooobooo=0.8 00000000O=0.80000000=0.7000000=0.6
goog 0 oooobooobooo=o.s0boboobooboo=0.8 0000000O0=0.5
ood O 000oo0obo0ooo=0.6
165 |26 04 05| OOOO 40° 08.6° O 142° 27.7 0O 35km 0:4.9
ood O O0oooooo=2.5
0 0o00bobd=2.400000=23000000000=23000000000=2.3
gboo0o0=2.200000=2.100000000=2.0000000=2.000000000O~=1.8
gboooooobo=1.8 0000000=1.7 O0OO00000O0O=1.7 0000000O=1.7
000o000=1.6 00000000O=1.6 000O00OO0OCOO0=1.500000000=1.5
oboooo=1.5
0 0oboo=1.4000000=140000000=1.4000000000=1.30000000=1.3
o0ob0=1.30000000=1.3000000=1.20000000=1.2000000000=1.1
obobooooboob=1.1 000000=1.1 00000000C0=1.000000000O=1.0
00oooo0=1.0000000=1.00000000=1.0000000000=0.900000=0.9
ooooooo=0.8 000000=0.8 0000000=0.8000000=0.8000000=0.8
ood O 000000=8.00000000=28000000000=2.6000000000=2.6

obob0o0=2300000000=2.3000000=2.30000000=2.20000000=2.1
gbhoo0go=2.1000000=2.10000000=2.10000000=2.00000000=2.0
o0oobooO0oo0o=2.00000000=2.00000000=1.9000000=1.90000000=1.9
gboogod=1.9000000=1.8 000000000018 0000000=1.8
o0ooo0oO00=1.8 0000000=1.8000000=1.7 000000=1.7000000=1.7
goboogo=1.7000000=1.70D000000=1.7 00000DO=1.7 00000ODOO=1.7
gbooooo=l.7 000000=1.7 0000000=1.6 0O0O0OO0O0OO=1.6 DOO0OO0O0O0O=1.6
gbooOd0O=1.6 000000=1.6 DO0O0OOOOO=1.600000ODO0O=1.6
gbobOoooboO=l.e DO0OO0OOO0OO=1.6 DDOODOODO=1.6 O0O0OOOOOO=1.6
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26 08 48

26 09 42

26 10 27

26 10 33
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gboooo=1.50000000=1.5000000~=1.5

gboobodod=14 0000000=1.400000000=1.4000000=1.4000000~=1.4
gooogo=1.40000000=140000000=140000000=1.4000000-=1.3
00oooo000oo00=13000000=130000000=1.30000000=1.3
gboooo=1300000000=1.30000000=1.20000000=1.200000=1.2
gbooood=ta1000000oobo0=1.1000000000=1.000000000DO=1.0
ooooO0=0.90000000=0.9000000=0.90000000=0.90000000=0.8
gboogoo=0.8 0000000O=0.7
oooboo0=190000000=1.7000000=1.6000000=1.500000=1.5
gooogo=1.5000000=1.50000000=1.5
oooooooo=1.4000000=1.4000000=1.400000000-=1.3
goboogood=13000000=1.20000000=1.2000000=1.20000000=1.2
gboooooboo=1.200000000=1.1000000=1.1 0000000=1.1
gobooood=110000000=1100000000=1.000D0000=1.0
gboogoo=l.o0000000=1.00000000=1.000000=1.00000000O=1.0
00ooo000=0.900000000=0.900000000=0.900000=0.8000000=0.8
gboogo=0.8 0000000=0.70000000=0.7000000D0=0.7000000=0.6
oboo00o=0.6 O0O00O0=0.6 000ODOODOO=0.6
gboogo=130000000=1.0000000O=0.7
gboogo=1.3000000=1.3000000=1.200000000=1.2000000~=1.2
ooooooob=11000000=1.0000000000=1.000000000000O00O=1.0
ooooooo=0.9 0000000=0.90000000=0.80000000000=0.8
00ooooooooo=0.7 00000000O=0.7000000D0O0O0O0OODO=0.7
o0oooooob=0.6 DO0O0OODOOOO0=0.6 00000O00000O=0.600000000=0.6
gbooooooo=0.6 DOOO0OO0OOOO=0.50000000=0.50000000000=0.5

36° 46.4° O 140° 33.8' 0O 9km 0:2.9
00oob00000=0.6

39° 04.6° O 142° 12.1 O 44km O: 4.0
oooooooo=2.0000000C=1.90000000=1.8000000000=1.7
gbooooo=1.7 0000000O=1.5
000000=1.40000000=1.30000000=1.20000000=1.0000000=1.0
ooobooOob=1.0000000=0.8000000=0.60000000=0.6000000=0.6
ooooooo=0.5
gooooodbD=14 0000000=11000000=1.0000000=1.0000000=0.8
oboboooo=o.8 00O0O0O0O0=0.8000000O=0.700000O=0.6

42° 53.2 O 144° 01.1" O 89km 0:3.2
oooooooo=0.7

33° 47.00 O 132° 45.6'° O 42km O: 3.8
gbOoogodo=1.6
gbooooobo=1.40000000=1.30000000=1.2000000000=1.2
o0oooo0ooo=1.200000000=1.200000000=1.20000000=1.2
gbob=1.1000000=11000000=1.0000000000=1.0000000=1.0
o0ob00=1.0000000=1.000000000=0.800000=0.8000000=0.7
gboogod=0.7 000000=0.7 0000COOCODOO=0.6 00D00ODODOO=0.6
oboo00o=0.6 DOO0OO0O0O0OO=0.6 0O0O0O=0.6 0000000O00O=0.6
oooboooooooob=0.500000000=0.50000000=0.5
goooooob=19 00000000=1.7000000O0=1.7000000O=1.7
0o0oo0000=1.700000000=1.6 00000000=1.60000000=1.5
goobooobD=1.4000000=1.4000000=130000000=1.30000000~=1.2
gbobooo=1.20000000=1.20000000=1.1000000=1.1
oooboooobo0d=11000000=1.0000000=1.000000000=1.0
gbooooo=l.o0000o0oobo=1.0000000=1.00000000O=0.8000000=0.8
oooooooo=0.8 000O00O0O0O=0.80000000=0.800000000=0.8
gboogoooob=o8 00000D0OO=0.8 000000O0O=0.70DODODOOOODO=0.7
0O0oooo00ooo0=0.70000000=0.7000000=0.7000000=0.6
oooooO0o=0.6 0000OO0=0.6 0000000=0.6 0000000=0.60000000=0.6
gboogooo=0.6 DOOOO0O0OO=0.5000000=0.5000000=0.5
gbooodgod=1.7
gboo0oo0=1.200000000=1.1000000=1.0000000O=1.0
ooooooooooo=0.9 000000=0.9000000=0.8000000=0.7
o0oo0o00=0.7 00000000=0.7000000=0.60000000=0.6000000=0.5
gboooo=0.5
oboo0o00=1.6e D00O0OO0O0OOOOO=1.5000000000000=1.5
gboo0g=1.300000000=1.3000000=1.3 00000o00o0=1.2000000=1.2
0000000=1.100000000=1.0000000=0.9000000000=0.9
oooo00=0.9 00000000=0.800000000=0.800000000=0.70000=0.6
000O000=0.5000000=05000000000=0.5000000000=0.5
ooooooo=0.5000000=0.5
gbOooooo=0.7 D0000O0O0OODO=0.6




oo (ooo oooo oo oo oo oo
oo (0oo|0Do0o0o00o0ooooobo
oog 0O 0oooobooooooo=0.6
ood 0O 0000000=0.5
oog 0O 00O0oo0og=0.5
170 (26 14 43 | OOOCOOO 37° 06.3 O 140° 42.3 0O 6km 0:3.2
oog 0 ooooooo=1.3
171 126 14 44 ( ODOODOODO 37° 06.2° O 140° 42.1 O 6km O: 3.2
ood 0O 00o0ooooo=1.9
0O 000ooobooO=0.6
172 126 1622 | OOOOO 36° 55.3° O 139° 24.1' O 4km 0:1.6
ooog 0 oooooooo=o.7
173 127 0136 | OOOO 39° 03.1' O 142° 23.9 0O 34km O: 3.6
ood O 00000b00=1.0000000=0.80000000=0.700000000=0.7
ooogd 0O 0oooobooo=0.6
174 127 02 12 ( ODOODOOO 27° 19.3 0O 128° 51.7 O 33km 0O: 3.7
goooo 0 0bo0ob0=1t1000000=1.0000000=0.0000000=0.7000000=0.5
175 |27 04 47 | OOOO 37° 20.6 O 141° 50.1 O 42km 0:3.9
ood 0O 0000000=0.70000000000=0.7000000=0.6000000=0.6
0o0oo0o000O=0.5
176 |27 07 09 | OODOOOOO 43° 14.0 O 146° 06.4 O 45km O: 3.6
ooogd 0 0oobobo=t.o000000DO=0.7
177 127 1804 [ ODOO 39° 58.0' O 143° 12.00 O 17km 0:4.5
ood 0 0ooboob=1.1000000000=0.7 0000000O=0.5
178 |27 2201 ( OOOOO 36° 11.0° O 140° 00.6° O 51km 0: 3.0
ood 0O 000oo=0.5
179 |28 0004 | OODOO 38° 14.4 0O 141° 51.3 O 62km 0O: 3.7
ooo 0O 0000000=0.70000000=0.7
oog 0 0o00oob=1.2000000=0.50000000=0.5
180 (28 02 47 | OOOO 36° 46.4° 0O 141° 22.17 O 34km 0: 4.2
ood 0 ooooooboo=1.s
0 0oboboobOd=t.20000000=1.00000000=090000000000O=0.7
gbooooooo=0.6 0O0OODOODOO=0.5
ood 0 ooooooo=1.s
0 0ODobobob=13000000000=1.2000000=0.0000000000=0.6
181 |28 07 48 | ODOOOOO 37° 05.7 O 140° 41.5 0O 8km 0:2.5
ood O 0oooooo=0.7
182 |28 1301 ( DOOOOOO 35° 48.5 0O 138° 44.9 O 10km 0:- 2.7
ood O 0o0O0oooo=0.9
oog 0 0ooobooo=1.3
183 |28 2035 | OOOO 31° 07.9 O 138° 11.9° O 476km 0:5.4
oog 0 Ooooooooo=o.5
googd O 0000Oo0O0=0.6
oog 0 oooooo=o.8 00000=0.7
ood O 000o0o00ooo=0.5
184 |29 08 44 | DODODOOOO 29° 35.2 O 129° 41.2 0O 5km 0: 3.2
goooo 0O 0ooobobooooooo=2a
0 oooboobooooo=1.1
185 129 1158 ( OO ODOODO 35° 41.6 O 139° 42.3 O 30km 0:25
ood O 0o0ooobooo=0.8
186 |29 18 19 | OOOO 38° 45.5 0O 141° 36.8 O 68km O: 4.0
ood 0 000b0b00=2.2000000000=190000000=1.800000000~=1.6

gbooooo=l.e 0OO0O0OO0ODO=1.6
00oooo0o0=1.40000000=1.40000000=1.30000000=1.3
gooboboOo=1.30000000=1.30000000=1.2000000=1.20000000=1.1
o0ooboo0o0=1.1000000000=1.00000000=1.00000000=1.0
ooobooO0=1.0000000=1.0000000=0.900000000=0.90000000=0.9
gboboooo=0.8 D00O0O000O0=0.8 OOOOOOO=0.8000000=0.80000000O=0.7
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oogd

gboooo
ooog

obooo
oogd

obooo
ood

O

gboobooo=0.7 D00000=0.7 ODOODOOOOOO=0.7000000000O=0.6
00ooboo0o0=0.6 0000O00=0.6 0000000000O0=0.5
gboobooOob=200000000=1.9000000=1.80000000=1.7
00o0oo000=1.7 00000000C=1.7000000O0=1.70000000=1.6
gooboboO=1.6e D00O0O0O0O=150000000=1.5
oboboobo=1.40000000=14000000=1.4000000=1.3000000=1.3
00oobo0=1300000=1.30000000=1.200000=1.2000000=1.2
oboboboo=l.2000000=1.100000000=1.1 00000000=1.1
00ooooO00=1.100000=100000000000=1.000000000=1.0
oooboooo=1.0o00boooobobOoo=0.0 00000=0.90000000=0.9
o0ooooo=0.9 000000=0.900000000=0.9000000=0.90000000=0.9
oooooOo=0.900000000=0.900000000=0.80000000=0.8
oboboooooboo=0.8 DO0000O0O=0.8 0000000=0.8000000O=0.8
gooogo=0.8 000000=0.7 OODODOODO=0.7 O000OO0O=0.70000000O=0.7
ooobooooo0=.7 0000000=0.6 000000=0.500000=0.5
ooooooo=0.8

gbooooooo=o.7

37° 47.6 O 139° 59.5' 0O 8km 0: 2.8
obooooo=o.7

37° 06.8" O 140° 41.2° 0O 8km 0: 2.8
ooooooo=0.9

38° 34.6° O 142° 12.1 O 37km O: 3.9
o0oooooo=0.9 00000000=0.60000000=0.60000000=0.6
o0oo0bo00000=0.6
0oooo0=0900000000=0.8

36° 31.4 O 140° 34.2° O 58km 0: 3.7
ooobooooobo0=2.6 00000O0OO0O0O=2.5
gbobdo=2.40000000000=230000000=2.200000=2.1000000=2.1
00000000=2.100000000=2.1000000=2.0000000000=1.9
gbooboooboO=1.8s 0000000=1.8000000=1.8000000=1.7000000O=1.7
00oo0O00=1.700000=1.7 000000=1.6 0000000O=1.6 0000000=1.5
gboood=1500000o00=1.5000000=1.5000000=1.50000000=1.5
gboooo=1.5
gbooooodo=1.4 00000000000=1.40000000=1.4000000=1.4
gboooooobo=13000000=1.300000000=1.300000000000~=1.3
00oooo0ooo0=13000000000=1.2000000=1.20000000=1.2
oboooo00=1.2000000=1.200000000=1.200000000=1.2
gboogo=1.2000000=1.200000000000=1.1000000-=-1.1
goboogo=1.000000000=1.00000D00DODO=1000000000=1.0
gboooooo=1.0 00000oobooob=0.9 000000=0.8 DOOODOODODO=0.8
000O000=0.8 000000=0.80000000=0.8000000=0.80000000=0.7
o0oo0000=0.7 00000000=0.6 000000=0.60000000=0.60000000=0.6
00oo0000=0.6 000000=0.500000=0.5000000=0.5000000=0.5
oooog=0.5
obooooo=2.1000000=1.5
ooob0=1.400000000=1.400000000=1.30000000=1.3
gbooboob0=11000000=110000000=0.9000000000=0.8
00oooo0o0=0.80000000=0.80000000000=0.7000000=0.7
oooooOoo=0.6 000000O0=0.5
gooooo=1.7
ooobooO0o=1.4000000=13000000000=1.300000000=1.1
gboobooboobo=1.100000000=1.00000000=1.000000=0.9000000O=0.7
ooooooo=0.7 O00O0ODODOO=0.7 00D0OO0DOOOOOO=0.6000000=0.6
oobobooooodo=0.6 bOOO0O0O0O=0.6 OO0OOO0O0OO=0.6 D0OOOOOOOO=0.5
oOooooo=0.50000000=0.5000000000=0.5
gboogo=o.7

36° 55.2° O 139° 24.3 0O 5km 0: 2.0
oooooooo=o.8

33° 36.9 O 134° 27.6° O 34km 0:34
oboo0do=l.e 00O0O0O0O0O0O=1.5
oooooooo=0.90000000=0.90000000=0.90000000=0.9
gbooooooo=0.7 0000O00ODO=0.6 OOOOOO=0.5000000=0.5

40° 08.8 0O 142° 26.7 O 35km 0:4.1
000O000=1.3000000=1.0000000000=1.000000=1.00000000=0.9
oooo0ooo0=0.9 00000=0.800000000=0.8000000000=0.7
gboooooo=o.7 00000O=0.6




oo (ooo oooo oo oo oo oo
oo (0oo|0Do0o0o00o0ooooobo
oog 0 oooboboo=1.30000obo0bodo=1.1 000000=1.2100000000=1.0
ooooooo=0.9 000000O0C00O=0.8000000=0.70000000=0.7
oOooooOooo=0.5000000=0.5
194 (30 06 57 | OOOOOO 35° 38.1" O 140° 50.6' O 13km O: 3.0
oog 0 Oooooooo=o.6
195 130 09 17 [ OOO 42° 26.4 O 145° 08.6° O 49Kkm O:4.1
ood O 00000=0.6 000000=0.60000000=0.5
196 |30 1302 | OOOOO 36° 12.3 O 138° 00.3' O 6km 0:34
oogd 0 0o00bO0obO0o=8.100000=2.8
0O 00000=2.20000000=1.90000000=1.5
0 0bo0obob0o=1300000000=1.2000000=1.20000000000O=1.2
gboooo0d=110000000=1.00000000=0.90000000=0.9
o0ooooOooooooobO0=0.8000000=0.800000000=0.70000000=0.7
oooooooo=0.7 000000=0.7000000=0.6 000000=0.6
obobooooooo=0.5
197 |30 1446 | OOOOO 36° 12.1 O 138° 00.4' O 5km 0O:3.1
ood O 00o0ooo=2.5
0 0ooobooo=2.2
O 00000=1.10000000=0.9000000=0.800000000=0.70000000=0.6
ooooooo=0.5
198 30 1622 | OOOOO 36° 12.3 O 138° 00.2" O 6km 0:2.4
oo 0 0o00b0ob0=1.100000=0.9
199 130 1906 ( DOOODOODO 35° 17.6 O 137° 27.8 O 11km 0:2.3
oogd 0 oooooooo=o.9
200 130 2014 | OOO 34° 15.8 0O 132° 16.0° O 6km 0:-2.3
ood O 000oooo=1.9
0O 0obooog=0.7
201 (30 2032 | OOOOOOO 39° 45.5 0O 141° 51.00 O 58km O: 3.6
oog 0 oooooo=1.1
ood 0O 0000000=1.2000000=1.1000000=0.8000000=0.80000000=0.8
o00o0O0=0.8 0000000=0.8000000=0.70000000=0.7000000=0.7
0000000000=0.6 000000O000=0.60000000=0.60000000=0.6
202 130 2139 | OOOOO 36° 13.4° 0O 140° 04.7 O 57km 0: 3.4
ood 0 oooooooooog=1.s
0O ooobobou=1300b00o0o=1300b0000=1.300000000=1.200000=1.1
000obo00=1.100000000000=1.100000=1.100000000=1.0
oooooO=0.9 0000000=0.900000=0.8000000000=0.80000000=0.8
00o0O000=0.7 000000=0.700000000=0.7000000=0.60000000=0.6
00000=0.6 00000C0C=0.6 00000000=0.6000000=0.50000000=0.5
oogd 0 ooobooob=o.80000000O0=0.7 00000=0.70000000O0=0.6000000=0.5
ood 0O 0ooooboob=0.7 00000O0CO=0.6
ooogd 0O 0ooooo=0.8
203 (31 0309 | OODOOO 36° 43.27 O 140° 37.6' O 6km O: 3.4
ood 0 0booboobb=1.2000000000=1.1000000=1.10000000-=1.0
goooooooo=0900000000=0.8
204 (31 0508 | OODOOOO 37° 01.8 O 140° 27.1" O 8km 0: 2.4
oood 0 0o00o0oo=0.6
205 (31 0520 | OOOCO 38° 42.1' O 141° 47.6° O 53km 0:3.1
oog 0 oooboooboo=1.a
206 (31 06 20 | ODOOO 37° 07.00 O 141° 15.1' O 59km 0: 3.8
ood ooooooo=2.8

oo

goooooobO=1.9 000000000=1.8000000=1.8000000=1.8
gboogo=1.8 0000000=1.7 000000=1.7 000000O0=1.70000000O=1.7
oooooooo=1.70000000=1.6 000000=1.6 0000000O=1.6
oboooodb=1.e DO00O000O=1.6 UOOO0OOO0O=1.50000000=1.5000000+=1.5
gbooooo=1.5000000=1.500000=1.50000000=1.5

0 ooobobb=14000000D00=140000000=1.4000000=1.3
oooooooo=1.30000000=1300000000=1.300000=1.3
goooooooO0d=13000000=1.3000000=1.200000=1.2000000=1.2
gbooooo=l.20000000000000=1.2000000=1.20000000000=1.2
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gboooo=1.1000000=11000000000=1.1 000000=1.21000000~=-1.1
ooobooObo=1.00000000=1.000000000O0=1.0000000=0.9
oooooooo=0.9 0000000O=0.9000000=0.900000000=0.800000=0.8
00oooooo=0.8 0000O000O0O=0.700000000=0.7000000000=0.7
oooooOooo=0.6 OOOOOOOO=0.6 O0OOO00O0OO0O0OO0O=0.50000000=0.5
gbooooooo=0.50000000=0.5
00oobo0oO0o0=1.200000=0.7000000=0.7000000=0.500000=0.5
obooooooo=0.5
ooooo0oob=1100000000=1.0000000000=0.9000000000=0.9
oooooo=0.9 00000000=0.8 00000000O=0.8000000=0.8000000=0.8
00ooo00=0.7 00000O000O=0.7000000O0=0.60000000=0.6
oooooOooo=0.500000000=0.50000000=0.500000=0.5
gboogooo=o.7 D00O00OO=0.7 O0OOOOOOO=0.5

38° 05.1 O 142° 05.5° O 18km 0:5.0
ooob0ooooo=2.5
obo0o000=2.4000000000=2.20000000=2.20000000=2.0
obooooo=l.90000oooobo=1.8000000=1.8 0000000O=1.8
gooogood=1.8s000000oOo=1.8 000000017y 000O0O0DOO=1.7 000O0OOO=1.7
oboo0do0=l.e D0O0000C0C=1.6 U00O00OO0O0=1.6 0000OO0O=1.6 00000000O=1.6
oboobooo=1.5000000=1.50000000=1.50000000=1.50000000=1.5
gooooo=1.4000000=14000000=140000000=1.30000000~=1.3
00oooo0ooo=1.30000000=130000000=1.3000000=1.2
00oobooob0=1.20000000=1.20000000000=1.2000000=1.2
gboobooboo=l.2000000000=1.1000000=110000000=1.1
ooobooO0o=1.00000000=1.00000000=1.0000000=09000000=0.8
gboooooo=0.8 D0000OO0OOO=0.8000000=0.70000D0O00O=0.7
000o000=0.7000000=0.6 0000000=0.5000000=0.5
gbooboO0obO=2.800000000=2.7000000DO=2.7
gboobooodoo=2.4 000000=2.4000000=2.3000000=2.3000000=2.3
o00b00=230000000=2.200000000=2.2000000=2.2000000=2.1
gbooboboboo=2.10000000=2.10000000=2.100000000=2.1
000o000=2.100000000=2.00000000=2.00000000=2.0000000=2.0
gbobOd=2.0000000=19000000=1.90000=1.900000000=1.9
00000=1.9000000=1.9000000=1.9000000=1.800000000=1.8
gooooooobo=180000000=1.80000000=1.70000000=1.700000=1.7
oboboooo=l.7 00o00000=1.7000000=1.6 DO0O0OO00OO=1.6 00O00000O=1.6
gbooOd0O=1.6e OO00OO0OOOOCO=1.6 0D00ODODO=1.6 DOODOOOOOO=1.6
gboogo=1.50000000=1.5000000=1.5000000=1.50000000+=1.5
obOoooo=1.50000000=1.5000000000=1.50000000=1.5
gooDoooobD=1.50000000=1.5
oboooboo=1.4000000=140000000=1.400000000=1.40000000-=1.4
o0ooboO0o=1.40000000=1.4000000=140000000=1.30000000=1.3
obooooo=1.3000000=1.300000000=1.3 0000000=1.3
o0oooo0ooo0=130000000000=1.20000000000=1.200000=1.1
goboooo=1.100000000=1.1 000000011 0000000=1.1
o0ooooO0o0O=1.000000000=1.000000000=1.00000000=0.9
oooooo=090000000=0.800000=0.5
obobOdoO=1.e 00O0O0O0O0O0O=1.5
oooboooooo0o=130000000=1.1 000000011 000000000=1.0
gooog=0.9o 0000000O00O=0.7 DODODODO=0.7
000O000=2.10000000=1.5000000=150000000=1.50000000=1.5
gboogo=1.5
gboodo=1.4000000=1.4000000=14000000000=1.400000=1.3
gboogd=13000000=13000000000=130000000=1.30000000=1.2
obooooobo=1.2000000=1.20000000=1.000000000O=1.0
o0oob00=1.00000000=1.000000=0.9000000=0.9000000=0.9
oooooO=0.9 000000=0.8000000=0.80000000=0.8000000=0.8
0o0o0o00=0.8 000000=0.7 0000000=0.7000000=0.70000000=0.7
gboooooob=0.7 0000O00O=0.70D0DO0OO=0.6
gboooooo=1.8 000ooodo=1.7 000oo0oobo=1.7 00o0ooooo=1.7
gboo0o00=1.6e 0O00O0OO0OO0ODO=1.6 OODOODOODOOO=1.6 0DODOOOOOODO=1.6
gboooooo=1500000=1.5000000000=1.5000000=1.5
oboooo=1.4000000=1.400000000=1.40000000=1.4
goooooobO0=14 000000000=1.4000000=1400000000=1.4
gbobodoo=1.30000000=1300000o0=1.300000000=1.30000000~=1.2
ooobooooobo0o=1.2000000=1.20000000=1.20000000=1.1
gboooo=1.1 00000o0ob=11000000=1.1 000000=1.1
o0oooo0o0o00=1.1 000000000011 0000000=1.10000000=1.0
gboogo=1.00000000=1.00000000000000=0.9000000D=0.9
00oooo0o0o0o=0.9 00000000=0.8000000000=0.80000000=0.8
o0ooooOoooo0=0.800000=0.8000000=0.700000000=0.700000=0.7
gboogo=0.7 000000=0.7 OODODOODOODOODOO=0.70000000=0.6
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oo (0oo|0Do0o0o00o0ooooobo
gboobooo=0.5 000000000=0.500000000=0.5
ood O 00b0000000=1.3000000=1.3000000=1.10000000=1.1
ooooooo=0.9 00000000=0.800000000=0.700000000=0.6
00oooo0oooo0ooo=0.50000000=0.50000000=0.50000000=0.5
oog 0 0o00boob0=1.0000000=1.0000000=1.0000000=09000000D=0.8
gboooo=0.8 00000000=0.8 00000=0.700000=0.60000000=0.5
ood O 00000000=1.2000000=1.1000000000=0.700000000=0.6
oboooo0=0.6 00O0O0O0=0.5
208 (31 1156 | OOOOOOO 29° 35.6° O 129° 48.7 0O 8km 0: 2.7
gooo O 0000000o000=0.9
209 131 1446 | OOOOO 33° 48.5 0O 133° 29.7 O 5km 0:23
oogd 0O 000000=0.6
210 (31 17 35| OOO 41° 36.1 O 142° 46.5 0O 57km 0: 4.1
oog 0 0ooobooboooo=1.e
0 0oobobob=1.1000000000=0.8000000=0.70000000DO=0.6
o0oo00000=0.500000=0.5
oog 0 0ooobob=1.1000000=1.000000000OO0=0.900000=0.9
211 |31 17 39| OO0OO 39° 01.0' O 142° 40.4 O 21km 0:4.1
ood O 0000000=0.6
good O 0000obO0oo0=0.9 0000000O=0.5
212 (31 2229 | ODOOOOO 37° 06.6° O 140° 41.00 O 7km O: 2.5
ooogd 0 0oobooo=0.5
213 (31 2237 | OOOCOO 37° 03.9 O 139° 20.8' 0O 8km 0:2.2
oog 0 oooooooo=1.8
214|131 2240 | OOOOOO 35° 41.3 0O 140° 44.9 O 47km O: 3.4

ood

ooooooo=0.8




